BIN ASSORTMENTS

GRADE 5 USS ZINC PLATED #LA100 GRADE 8 USS ZINC PLATED #LA102

1/4uss | sreuss | amsuss | 716uss | 12uss | 9rsuss | s uss \ \
NUTS NUTS NUTS NUTS NUTS NUTS NUTS 1747 thru 5/8" Hex Nuts, Flat Washers,

ary.200 | arv.100 | arv.100 | arv.100 | arv.100 | atv.s0 | arv.s0 Lock Washers, & Cap Screw Assortment

1/4 FLAT | 5/16 FLAT | 3/8 FLAT | 7/16 FLAT | 1/2 FLAT | 9/16 FLAT | 5/8 FLAT
WASHER | WASHER | WASHER | WASHER | WASHER | WASHER | WASHER
QTY.200 | QTY.200 [ QTY.200 | QTY.100 | QTY.100 QTY. 50 QTY. 50

1/4 LOCK [ 5/16 LOCK | 3/8 LOCK [ 7/16 LOCK | 1/2 LOCK [ 9/16 LOCK | 5/8 LOCK
WASHER | WASHER | WASHER | WASHER | WASHER | WASHER | WASHER
QTY. 500 | QTY.500 [ QTY.500 | QTY.200 | QTY.200 | QTY.100 [ QTY.100

1/4X3/4 | 5116 X1/2 | 3/8 X 3/4 | 716X 1 12 X1 1916 X 1-1/4| 5/8 X 1-1/4
uss USsS uss uss USS usS uss
QTY.100 | QTY.100 [ QTY.100 | QTY.100 | QTY.100 Qry. 25 QTY. 25

1/4 X1 516X 3/4 | 3/8X1 |[716X1-1/4[1/2 X 1-1/4[9/16 X 1-1/2] 5/8 X 1-1/2
uss UsS uss uss (IR uss uss
QTY.100 | QTY.100 | QTY.100 QTY. 50 QTY. 50 QTy. 25 QTY. 25

1/4X1-1/41 516 X1 | 3/8 X 1-1/4 |7/16 X 1-1/2] 1/2 X 1-1/2 |9/16 X 1-3/4| 5/8 X 1-3/4
uss UsS usS uss USS (RN uss
QTY. 100 | QTY.100 | QTY.100 QTY. 50 QTY. 50 Qry. 25 QTY. 25

1/4 X 1-1/2 15116 X 1-1/2] 3/8 X 1-1/2 |7/16 X 1-3/4) 1/2 X 1-3/4 | 9/16 X 2 5/8 X2

Uss uss Uss Uss uss uss Uss

qrv.100 [ atv.100 | arv.50 | orv.50 [ arv.so | arv.2s [ aTv.2s QUANTITIES

14x2 | s16x2 |38x1-34| 716x2 [ 1/2x2 [9/16 X 2-1/2| 5/8 X 2-1/2 Hex Nuts—700 ps.
Uss uss Uss Uss uss uss Uss

ary.100 | arv.100 | arv.s0 | arv.so | arvso | arves | arvos Flat Washers—a00 pos.
Lock Washers—2,100 pcs.
1ax2-1/2 516 x2-12| 38x2 |76 x2-12[ 12X 212 9116X3 | 58X3 Hex Can S o
uss Uss uss uss Uss uss uss ex Lap SCrews—e,b2o pes.
arv.100 | arv.100 | arv.s50 | atv.s0 | arv.2s | arv.2s | arv.es

Reorder quantities will be standard pack quantities.

GRADE 5 SAE ZINC PLATED #LA101 - GRADE 8 SAE ZINC PLATED #LA103

1/4SAE | 516 SAE | 3/8SAE | 7/16SAE | 1/2SAE | 9/16 SAE | 5/8 SAE 1/4” thru 5/8” Hex Nuts, Flat Washers,
NUTS NUTS NUTS NUTS NUTS NUTS NUTS
QTY.200 | QTY.100 | QTY.100 | QTY.100 | QTY.100 | QTY.50 | QTY.50

1/4 SAE FLAT [5/16 SAE FLAT| 3/8 SAE FLAT [7/16 SAE FLAT[1/2 SAE FLAT|9/16 SAE FLAT|5/8 SAE FLAT
WASHER | WASHER | WASHER | WASHER | WASHER | WASHER | WASHER
QTY.200 | QTY.200 [ QTY.200 | QTY.100 | QTY.100 | QTY.100 | QTY. 100

1/4X3/4 | 5116 X3/4 | 3/8X1 716 X1 | 1/2X1-1/4 19/16 X 1-1/4| 5/8 X 1-1/4
SAE SAE SAE SAE SAE SAE SAE
QTY. 100 | QTY.100 | QTY.100 | QTY. 100 QTY. 50 QTY. 25 QTY. 25

1/4 X1 516 X1 | 3/8 X 1-1/4 [7/16 X 1-1/4| 1/2 X 1-1/2 19/16 X 1-1/2| 5/8 X 1-1/2
SAE SAE SAE SAE SAE SAE SAE
QTY. 100 | QTY.100 | QTY.100 QTY. 50 QTY. 50 QTY. 25 QTY. 25

1/4 X 1-1/4 15/16 X 1-1/4] 3/8 X 1-1/2 |7/16 X 1-1/2] 1/2 X 1-3/4 |9/16 X 1-3/4| 5/8 X 1-3/4
SAE SAE SAE SAE SAE SAE SAE
QTY. 100 | QTY.100 QTY. 50 QTY. 50 QTY. 50 QTY. 25 QTY. 25

1/4 X 1-1/2 15116 X 1-1/2| 3/8 X 1-3/4 | 716 X 1-3/4] 1/2X 2 916 X 2 5/8 X2
SAE SAE SAE SAE SAE SAE SAE
QTY. 100 [ QTY.100 QTY. 50 QTY. 50 QTY. 50 QTY. 25 QTY. 25

1/4X2 |5/16 X 1-3/4| 3/8 X2 7T16X2 |1/2X2-1/2|9/16 X 2-1/2| 5/8 X 2-1/2

Lock Washers, & Cap Screw Assortment

SAE SAE SAE SAE SAE SAE SAE
QTY.100 | QTY.100 | QTv.50 | QTv.50 | QTY.25 | QTY.25 | QTY.25 QUANTITIES
14X 212 516X2 | 3/8X2-1/2|7/16 X 2-1/2| 1/2X3 | 916X3 | 58X3
SAE SAE SAE SAE SAE SAE SAE Hex Nuts—700 pcs.
QTY.100 | QTY.100 | QTY.50 QTY. 50 QTY. 25 QTY. 25 QTy. 25 Flat Washers—1,000 pcs.
1/4X3 |516 X 2-1/2| 3/8X3 716 X3 | 1/2 X 3-1/2 |9/16 X 3-1/2| 5/8 X 3-1/2 Hex Cap Screws—2,800 pcs.
SAE SAE SAE SAE SAE SAE SAE

QTY. 50 QTY. 100 QTY. 50 QTY. 25 QTY. 25 QTY. 25 QTY. 25

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707
141




BIN ASSORTMENTS

GRADE 5 TRAILER SHOP #LA104

1/4 USS 1/4 14FLAT | 1/41L0CK | 1/4X1/2 | 174x34 | 1/4%1 [14x1-12 | Nuts, Flat & Lock Washers, Grade 5 Cap Screws,
NUTS | KEPNUTS | WASHER [ WASHER |HEX CAP SCREW |HEX CAP SCREW |HEX CAP SCREW |HEX CAPSCREW | Carriage & Step Bolts — Designed especially for
QTY. 200 | QTY.100 | QTY.200 | QTY.200 | QTY.100 | QTY.100 | QTY. 100 | QTY. 100 Trailer Shops #LA104

1/4X2 11/4X2-1/2| 516 USS | 5/16 FLAT | 5/16 LOCK | 5/16 X 3/4 | 5/16 X1 |5/16 X 1-1/4
HEX CAP SCREW [HEX CAP SCREW| ~ NUTS WASHER | WASHER [ HEX CAP SCREW [ HEX CAP SCREW HEX CAP SCREW

QTY. 100 | QTY. 100 | QTY. 100 | QTY.200 | QTY.500 [ QTY. 100 | QTY.100 | QTY. 100

/16 X 1-1/2| 516%2 | 3/8USS FLiﬁGE N?{%N 38 FLAT | 3/8LOCK | 3/8X1
oo soEn e cepsoren|  NUTS [ FLANSE | WYLON | wstieR | WASHER  [HeXcep SRt
QTY. 100 | QTY. 100 | QTY. 100 | QTY.100 | QTY. 100 | QTY.200 | QTY.500 [ QTY. 100

3/8X1-1/4|3/8X1-1/2| 3/8X2 |3/8X2-1/2| 3/8X3 1/2USS | 1/2 FLAT | 1/2 LOCK
HEX CAP SCREW [HEX CAP SCREW| HEX CAP SCREW [HEX CAP SCREW |HEX CAP SCREW| ~ NUTS WASHER | WASHER

QTy. 100 | QTY. 50 QTY. 50 QTY. 50 | QTY.50 QTY. 100 | QTY. 100 | QTY. 200

1/2-1-1/4 (12 X1-1/2] 1/2X2 |1/2X2-1/2| 5/8USS | 5/8 FLAT | 5/8 LOCK 172X5
HEX CAP SCREW |HEX CAP SCREW| HEX CAP SCREW [HEX CAP SCREW|  NUTS WASHER | WASHER | HEXCAP SCREW

QTY. 50 QTy. 50 QTY. 50 QTyY. 25 QTY. 50 QTY. 50 | QTY.100 | QTY.20

5/8X1-1/2|5/8X1-3/4| 5/8X2 |58X2-1/2] 14X1 |1/4X1-12| 1/4X2 |1/4X2-1/2
HEX CAP SCREW | HEX CAP SCREW| HEX CAP SCREW [ HEX CAP SCREW | CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT

QTy. 25 QTy. 25 QTyY. 25 QTY. 25 | QTY. 100 | QTY. 100 | QTY. 100 | QTY. 100

1/4X3 1/4X 4 1/4X5 1/4X6 [5/16 X 1-1/2] 516 X2 |5/16 X 2-1/2| 5/16 X3 QUANTITIES
CARRIAGE BOLT [ CARRIAGE BOLT [ CARRIAGE BOLT | CARRIAGE BOLT [ CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT Nuts—850 pcs.
QTY.50 | QTY.50 [ QTY.25 | QTY.25 | QTY.100 | QTY.100 | QTY.100 | QTY.50 Flat Washers—750 pcs.

s516x4 |38x1-12] 38x2 [3sx212| 38x3 | 38x4 | 38xs5 | 38xe Lock Washers—1,500 pcs.

CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT | CARRIAGE BOLT G5 USS Cap Screws—1,795 ps.
Carriage Bolts—1,175 pcs.

arv.25 | arv.s50 | arv.s0 | arv.os | arv.so | arv.es | arv.es | arv.os Rib Nock Carriags Bolts.—100 pcs
SBX VA A X114 | 14 x 1172 | va X 1-vaf 17X 1-172| 358X 112 | g x 2 |IBX LM Step Bolts—200 pcs.
ey | STEPBOLT | STEPBOLT | ELEVATOR BOLT | L£VAToR LT ELEVATOR 8oL | ecvaton iy | BOTIOM BAL Elevator Bolts—500 pcs.
ary. 100 | QY. 100 [ @1v.100 | @7v.100 | @rv.100 | Q1v. 100 | QTY. 100 | QTY 100 Bottom Rail Bolts—100 pcs.

Reorder quantities will be standard pack quantities.

GRADE 8.8 METRIC #LA105 . GRADE 10.9 METRIC #

6 MM 1.00
oMM LocK| 6MM FLAT | 6x20 | 6%30 | 6Xx40 | 6x50 | 6X60 -
oML | WASHER | WASHER | COARSE | COARSE | COARSE | COARSE | COARSE Metric Nuts, Flat & Lock Washers,

QTy. 25 QTy. 25 QTyY. 25 QTY. 10 QTy. 10 QTy. 10 QTy. 10 QTY. 10

BM,\'I‘{'J}-% 8MM LOCK| 8 X 16 8X 20 8X 30 8X 40 8X50 8X 60
COARSE | WASHER | COARSE | COARSE | COARSE | COARSE | COARSE | COARSE

QTy. 25 QTyY. 25 QTY. 10 QTY. 10 QTY. 10 QTY. 10 QTY. 10 QTY. 10

Course & Fine Cap Screw Assortment

10 nﬂw.so foMMLOcK 10Xx20 | 10x30 | 1ox40 | 1ox50 | 10xe0 | 10x70
COARSE | WASHER | COARSE | COARSE | COARSE | COARSE | COARSE | COARSE

QTyY. 25 QTyY. 25 QTY. 10 QTyY. 10 QTY. 10 QTY. 10 QTY. 10 QTY. 10

12%'\6'9-7512MM Lockl 12x25 | 12x30 | 12x40 | 12x50 | 12x60 | 12Xx70
COARSE | WASHER | COARSE | COARSE | COARSE | COARSE | COARSE | COARSE

QTy. 25 QTyY. 25 QTY. 10 QTyY. 10 QTY. 10 QTY. 10 QTY. 10 QTY. 10

BM,\'I‘{'J}-OO 8MM FLAT| 8 X 16 8X 20 8X 25 8X 30 8X 40 8X50
NNE | WASHER | FINE FINE FINE FINE FINE FINE

QTy. 25 QTyY. 25 QTY. 10 QTyY. 10 QTY. 10 QTY. 10 QTY. 10 QTY. 10

TOMM 1.2511omm FLAT| 10Xx20 | 10x25 | 10x30 | 10x40 [ 10x50 | 10x60

ylll\ﬁ WASHER |  FINE FINE FINE FINE FINE FINE
ary. 25 | Q1v.25 [ arv.1o [ arv.qo | arv.to [ arv.o [ arv.io [ arv. 1o

12MW 1501 12mm FLAT| 12X 25 | 12x30 [ 12x40 | 12x50 | 12X60 | 12X70

NRE | wasHer | FiNE FINE FINE FINE FINE FINE
oy 25 | Q1v.25 | arv.1o | arv.1o | arv.to | arv.qo | arv.1o | arv.1o QUANTITIES
14 MM 1.50
14MM FLAT[14mM LOCK| 14X 35 | 14X40 | 14X50 | 14x60 | 14X 70
MUL | WaSHER | WASHER |  FINE FINE FINE FINE FINE Nuts—225 pcs.
ary o5 | arv.2s | arv.es | arv.1o | arv.io [ arv.1o [ arv.qo | arv. 1o Lock Washers—150 pcs.
16 MI1.50] 16w FLAT|16MM LOCK| 16x30 | 16X40 | 16X50 | 16X60 [ 16X 70 Flat Washers—150 pcs.
NKE | WASHER | WASHER |  FINE FINE FINE FINE FINE Cap Screws—510 pcs.

ary. 25 | Q1v.25 [ arv.25 [ arv.10 | arv.1o [ arv.10 [ arv.to [ arv. 1o

142 ISCHErs

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707 =:;'-“7:—
I



BIN ASSORTMENTS

PFP2 PFP4 PFP6 prpg | prP12 [ prpig | FR2D | FFB4Z
1/8 Sq Plug | 1/4 Sq Plug| 3/8 Sq Plug | 1/2 Sq Plug| 3/4 Sq Plug| 1 Sq Plug

Sq Plug | HX Bushing
arv.10 | arv.1o | arv.to [ arvto [ arvto | oatv.s | orvs | arys

PFB62 PFB64 PFB84 PFB86 PFB126 PFB128 PFB168 PFB1612
3/8x1/8 | 3/8x1/8 | 1/2x1/4 | 1/2x3/8 | 3/4x3/8 | 3/4x1/2 1x1/2 1x 3/4
HX Bushing | HX Bushing| HX Bushing | HX Bushing | HX Bushing| HX Bushing | HX Bushing | HX Bushing
QTY. 10 QTY. 10 QTY. 10 QTY. 10 QTY. 5 QTY. 5 QTY. 5 QTY. 5

PFB2012 PFB2016 PFC2 PFC4 PFC6 PFC8 PFC12 PFC16
1-1/4x 3/4 | 1-1/4x 1 1/8 1/4 3/8, 1/2, 3/4 1 Gouplin
HX Bushing | HX Bushing| Coupling Coupling Coupling Coupling Coupling pling

ary.s | arv.s | arv.10 | arv.io [ arv.io | atv.io | arv.s ary. 5

PFC20 PFR42 PFR64 PFR86 PFR128 | PFR1612 | PFR2016

1-1/4 1/4x1/8 | 3/8x1/4 | 1/2x3/8 | 3/4x1/2 1x3/4 1-1/4 x 1
Coupling Reducer Reducer Reducer Reducer Reducer Reducer

QTY. 5 QTy. 10 QTY. 10 QTY. 10 QTY. 5 QTY. 5 QTY. 5

PFE42 PFE44 PFE46 PFE48 PFE412 PFE416 PFE420

45° 1/8 45° 1/4 45° 3/8 45° 1/2 45° 3/4 450 1 45° 1-1/4
ELbow ELbow ELbow ELbow ELbow ELbow ELbow

QTY. 10 QTY. 10 QTY. 10 QTY. 10 QTY. 5 QTY. 5 QTY. 5

PFE92 PFE94 PFE96 PFE98 PFE912 PFE916 PFE920

90° 1/8 90° 1/4 90° 3/8 90° 1/2 90° 3/4 90° 1 90° 1-1/4
ELbow ELbow ELbow ELbow ELbow ELbow ELbow

QTY. 10 QTY. 10 QTyY. 10 QTY. 10 QTy. 5 QTY. 5 QTY. 5

PFS92 PFS94 PFS96 PFS98 PFS912 PFS916 PFS920

90° 1/8 90° 1/4 90° 3/8 90° 1/2 90° 3/4 90° 1 90° 1-1/4
STREL STREL STREL STREL STREL STREL STREL

QTY. 10 QTY. 10 QTY. 10 QTY. 10 QTY. 5 QTY. 5 QTY. 5

PFT2 PFT4 PFT6 PFT8 PFT12 PFT16 PFT20
1/8 Tee 1/4 Tee 3/8 Tee 1/2 Tee 3/4 Tee 1 Tee 1-1/4 Tee
QTY. 10 QTY. 10 QTY. 10 QTY. 10 QTy.5 QTY. 5 QTY. 5

Reorder quantities will be standard pack quantities.

PIPE NIPPLE ASSORTMENT #LA171

PFCN2 PFCN4 PFCN6 PFCN8 PFCN12 PFCN16 PFCN20
1/8 Close | 1/4 Close | 3/8 Close | 1/2 Close | 3/4 Close 1 Close | 1-1/4 Close
Nipple Nipple Nipple Nipple Nipple Nipple Nipple

Qty. 10 Qty. 10 Qty. 10 Qty. 10 Qty. 5 Qty. 5 Qty. 5

PFLN412 | PFLN612 | PFLN812 | PFLN1220 | PFLN1620 | PFLN2020
1/4X1-1/213/8 X1-1/2| 1/2 X 1-1/2| 3/4X2 1X2 1-1/4X 2
Nipple Nipple Nipple Nipple Nipple Nipple
Qty. 10 Qty. 10 Qty. 10 Qty. 5 Qty. 5 Qty. 5

PFLN420 | PFLN620 | PFLN820 | PFLN1222 | PFLN1622 | PFLN2022
1/4X 2 3/8X2 12X2 |3/4X2-1/2| 1X2-1/2 |[1-1/4 X 2-1/2
Nipple Nipple Nipple Nipple Nipple Nipple
Qty. 10 Qty. 10 Qty. 10 Qty. 5 Qty. 5 Qty. 5

PFLN422 | PFLN622 | PFLN822 | PFLN1230 | PFLN1630 | PFLN2030
1/4X2-1/23/8 X 2-1/2| 1/2 X 2-1/2| 3/4X3 1X3 1-1/4X 3
Nipple Nipple Nipple Nipple Nipple Nipple
Qty. 10 Qty. 10 Qty. 10 Qty. 5 Qty. 5 Qty. 5

PFLN430 | PFLN630 | PFLN830 | PFLN1240 | PFLN1640 | PFLN2040
1/4X3 3/8X3 1/2X3 3/4X4 1X4 1-1/4X 4
Nipple Nipple Nipple Nipple Nipple Nipple
Qty. 10 Qty. 10 Qty. 10 Qty. 5 Qty. 5 Qty. 5

Reorder quantities will be standard pack quantities.

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
143




BIN ASSORTMENTS

| AIR BRAKE & PIPE FITTINGS #LA155
BFPLS6 | BFPLSS | BFAHS12 PFP2 PFP4 PFP6 PFP8 PFP12
3/8 Sleeve | 1/2 Sleeve | 3/8 Sleeve |  1/8PLUG 114 PLUG 38 PLUG 112 PLUG 34 PLUG
Qty. 50 Qty. 25 Qty. 12 aty.12 | Qty.12 Qty. 12 Qty. 12 Qty. 12
BFPLING | BFPLINS | BFAHN12 | PFCN2 PFCN4 PFCNG PFCN8 PFCN12
3/8 Insert | 1/2 Insert 3/8 Nut | 1/8 Nipple | 1/4 Nipple | 3/8 Nipple | 1/2 Nipple | 3/4 Nipple
Qty. 50 Qty. 25 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12
BFPLNG | BFPLNS | BFAHSP PFC2 PFC4 PFC6 PFC8 PFC12
3/8 Nut 1/2 Nut | 3/8 Spg-Nut|1/8 Coupling|1/4 Coupling|3/8 Coupling|1/2 Coupling|3/4 Coupling
Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 aty. 12
BFPLU6 | BFPLUS |BFAHC124A|  PFT2 PFT4 PFT6 PFT8 PFT12
3/8 Union | 1/2 Union | 3/8 X 1/4P 1/8 Tee 1/4 Tee 3/8 Tee 1/2 Tee 3/4 Tee
Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12
BFPLT6 | BFPLTS |BFAHC126A| PFS92 PFS94 PFS96 PFS98 PFS912
3/8Tee | 1/2Tee | 3/8X3/8P | 1/8ST90 | 1/4ST90 | 3/85T90 | 1/25T 90 | 3/4 5T 90
Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12
BFPLC64 | BFPLCS84 |BFAHC128A| PFS42 PFS44 PFS46 PFS48 PFS412
3/8X1/4 | 1/2X1/4 | 3/8X1/2P | 1/8ST45 | 1/4ST45 | 3/8ST45 | 1/2ST45 | 3/4 ST 45
Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12
BFPLC66 | BFPLC86 | BFPLES4 | BFDA4 | FPFB42 [ PFB62 | PFBS4 | PFB128
38X 38 | 1/2X3/8 [ 1/2X1/4P [ 1avaie | BLxhE [ FEXUE | L2l Bz
Qty 12 Qty. 12 Qty. 12 Qty. 12 Qty 12 Qty 12 Qty. 12 Qty. 12
BFDA44 |BFBH11304| PFB64 PFB86 MLT711
S/FSP)L(Cﬁg ?,FZP)';%S 1% &Lgfgp 1/4 x 1/4 Nr2x38x-34| 3/8x1/4 | 1/2x3/8 1/4
Valve Bulkhead Bushing Bushing [3/8 Hose Set
Qy.12 | Q.12 | Qy.12 | qy 12 | Q.12 a. 12 | aty. 12 Qty. 12
BFPLEG4 | BFPLEG6 | BFPLE6S | BFPLESS | MLT715 | MLT718 ML1T/‘7‘28 MHT/ZW
3/8 X 1/4P | 3/8 X 3/8P [ 3/8 X 1/2P | 1/2 X 1/2P [ 1/4 Coupler| 3/8 Coupler [ remale Piug | Male Plug
Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty. 12 Qty, 12 Qty. 12

Reorder quantities will be standard pack quantities.

L.A. Fasteners pan assortments come in durable steel parts drawers which keep the parts organized
and within reach when you need them. Inside you will find the parts grid has actual photographs of
the parts with concise descriptions and all the information you need to re-order.

L.A. Fasteners has assortments for every need and we are adding new ones all the time. If you do
not see exactly what you are looking for, just contact your L.A representative and ask about having a
custom-made assortment designed to your specifications.

Your
L.A. representative

can also help you

M [

v'v_f LET- 45'_65_

| o e Tom S U R e Gl

e s e G e e o G
o e ST e S P N

PP S S e

T S T T T e -

o e S T o S T D
I T o e e e T
e e e e e e Y
o S T e S e e
o N s e S e s
o o e T e D

s

design an entire

system based on

the needs of your
operation.




PAN ASSORTMENTS

16-14 MALE QUICK SLIDE
T24126  Qty 100

16-14 FEMALE QUICK SLIDE
T24127 Qty 100

57 SNAP PLUG
T24149  Qiy 100
M

16-14 FORK

22-18 BUTT CONNECTOR
T24128  Qty 100

=0

22-18 #10EYE

Ve

12-10 MALE QUICK SLIDE

T24119  Qty 100

157 FEMALE PLUG
T4285 Qty 50

16-14 BUTT CONNECTOR

16-14 3 WAY CONNEGTOR 1816 QUICK SLIDE
T24102  Qty 100 T24152  Qty 100 T24153  Qty 100 T30491  Qty 25 J3283  Qty 50
TR U JLm LT TTERT QLTI

L ]

12-10 FEMALE QUICK SLIDE

),.

O

g LA110 WIRE TERMINAL ASSORTMENT %’
% %
- - .= mC [ m)

16-14 MALE QUICK SLIDE
T24124  Qty 100
S

==

O

16-14 #8RING 1614 #10RING 16-14 1/4 RING 1614 3/8 RING 3M SCOTHLOK
T24130 Gty 100 T24104  Qty 100 T24106  Qty 100 T24107  Qty 100 124108 Qty 100 T24150  Qty 25
TR U T JUmVR R TR A 11111 1
1210 BUTT CONNEGTOR 12-10 #10EYE 1210 14 EYE 12410 5M6 EYE 1210 3/8 EYE 1210 112 EYE
T24131  Qty 50 T24112  Qty 50 T24113  Qty 50 Tz4114  Qty 50 T24115  Qty 50 T24151  Qty 50
U A UM TR AT TAI RN TR TN [

Item reorder quantities shown. Initial item order quantities may vary.

LA110HS HEAT SHRINK TERMINAL ASSORTMENT

PH: 800-837-8707

—_—

-

16-14 MALE QUICK SLIDE
T24126HS  QTY 50

TR

16-14 FEMALE QUICK SLIDE

T24127THS  QTY 50

i

16-14 .157 SNAP PLUG

[ R —

[ p—

16-14 FORK #10 STUD

. ]

16-14 157 FEMALE PLUG
T24148HS QTY 50 T24119HS QTY 50 T4285HS QTY 25
QLA UTITERAT Ty LT A TGOCTERTATTRTVAAYY QTR TR
Y [ - — " -
Pp— ) . ST
2218 BUTT CONNECTOR 2218 10 EYE 12-10 MALE QUICK SLIDE 12-10 FEMALE QUICK SLIDE

T24128HS QTY 50 T24102HS QTY 50 T24152HS QTY 25 T24153HS QTY 25

L RTR AR UM R LRV L
— - ¥ :.*;,\

o XD _~®) )

16-14 BUTT CONNECTOR 16-14 #8 EYE 16-14 #10 EYE 16-14 1/4 EYE 16-14 3/8 EYE
T24130HS QTY 50 T24104HS QTy 50 T24108HS QTy 50 T24107HS QTY 50 T24109HS QTY 50
AT T AT TATA T AR TIOWTrY
- T ) =) )

- I S —
12-10 BUTT CONNECTOR 12-10 #10 EYE 12-10 1/4 EYE 12-10 3/8 EYE 12-10 114 EYE
T24131HS QTY 50 T24112HS QTY 25 T24113HS QTY 25 T24115HS QTY 25 T24151HS  QTY 25
QL RINTA AN VTR AR T TR VPR OO 0 R

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707

145




PAN ASSORTMENTS

LA110HSC HEAT SHRINK TERMINAL ASSORTMENT  PH: 800-837-8707 %

£

16-14 MALE QUICK SLIDE

e =3

16-14 FEMALE QUICK SLIDE

16-14 157 SNAF PLUG

—=

16-14 FORK #10 STUD

T24126HS QTY 50 T24127THS QTY 50 T24149HS QTY 50 T24118HS QTY 50 T4285HS QTyY 25
TR NIRRT QRSN (0TI IR
= b o —
s () . _ e i
22-18 BUTT CONNECTOR 2218 #10 EYE 12-10 MALE QUICK SLIDE 12-10 FEMALE QUICK SLIDE
T24128P% QTY 50 T24102HS QaTyY 50 T24152HS QTY 25 T24153HS aTy 25
(RN TS VSRR R TNE RN T DTN
— 2 [ >
i == =T @) =)
16-14 BUTT CONNECTOR 16-14 #8 EYE 16-14 #10 EYE 16-14 1/4 EYE 16-14 3/8 EYE
T24130PS QTy 50 T24104HS  QTY 50 T24106HS QTY 50 T24107THS QTY 50 T24108HS QaTy S50

NI A

ATV

T

[T T TmEm

AT

5

12-10 BUTT CONNECTOR
T24131P§  QTY 25

NG AR R

12-10 #10 EYE
T24112HS  QTY 25

OB A

12-10 114 EYE

TZ4113HS  QTY 25

T

=0

12-10 3/8 EYE
T24115HE  QTY 25

(ENT AR

12-10 > EYE
T24151HS  QTY 25

RN O

Item reorder quantities shown. Initial item order quantities may vary.

LA110N

NYLON WIRE TERMINAL ASSORTMENT

2218 #10EYE

T241024  QTY 100

Ol

16-14 #3 RING

T24104N  QTY 100

o= |

16-14 #10 RING

T24106N  QTY 100

=

16-14 1/4 RING

N

T2410TN  QTY 100

O

16-14 3B RING

T241098  QTY 100

12-10 #10 EYE

T2411ZN  QTY 50

R I LTI L] [T I
12-10 14 EYE 12-10 5/16 EYE 12-10 3/8 EYE 16-14 FORK 14-18 #10 HOOK 16-14 MALE QUICK SLIDE

T24113N  QTY 50

T24114N  QTY 100

T24115M  QTY 50

T24118N  QTY 100

T24124N  QTY 100

T24126N  QTY 100

(T (IR R LR (TR LRI LR

éh = : —_— = prm——
&8 —— T s . - - —tn =

16-14 FEMALE QUICK 2218 BUTT CONNECTOR 16-14 BUTT CONNECTOR 12-10 BUTT CONNECTOR 157 SNAP PLUG 12-10 12 EYE

SLIDE
T24127N  QTY 100

[T

T24128N  QTY 100

R EINTITTT

T24130M  QTY 100

LR

T24131N  QTY 50

(AT

T24148N  QTY 20

UL LAy

T24151N  QTY 25

LR

o
=

12-10 MALE QUICK SLIDE
T24152N  QTY 50

AR

Sy
N

12-10 FEMALE QUICK SLIDE
T24153N  QTY 25

DT

157 FEMALE PLUG
T4285N  QTY 100

[

146

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

16-14 157 FEMALE PLUG




PAN ASSORTMENTS

LA110SHS SOLDER HEAT SHRINK TERMINALS

PH: 800-837-8707
ngs

v v
22-18 BUTT CONNECTOR 2218 #10 EYE
T241285HS QTY 25 T241028HS QTY 25
J 0RO 0 A AT
T——— -
i [~ =I7) mm) P
16-14 BUTT CONNECTOR 16-14 #8 EYE 16-14 #10 EYE 16-14 1. EYE 16-14 FORK #10 STUD

T241308HS  QTY 25

T241045HS  QTY 25

T241088HS  QTY 25

T241078HS QTY 25

T241185HS  QTY &0

12-10 BUTT CONNECTOR
T24121SHS  QTY 25

AN
=0

12-10 % EYE
T241515HS  QTY 25

12-10 #10 EYE
T241128HS  QTY 25

' Vi

b

o N

12-10 % EYE
T241135HS  QTY 25

12-10 3/8 EYE
T241155HS QTY 25

=

12-10 X #10 SPADE
T241228HS QTY 25

Item reorder quantities shown. Initial item order quantities may vary.

s ) Hings
v <

2/0 BUTT SPLICE 3/0 X 38 STUD #3 X 1/2 STUD

FTMS200 QTY 10 FTML30038 aTYy 10 J3263 Qry 25
[T AT R T RTMETITATY

3/0 BUTT SPLICE 3/0 X 1/2 3TUD #6 X 14 STUD

FTMS300 QTty 10 FTML20012 QTY 10 J3264 QTyY 25
[T QA LTI

2/0 X 3/8 STUD 40 X 2/8 STUD #6X 3/8 STUD

FTML20038 QTY 10 FTML40038 QTY 10 J3265 QTY 25
QT [T [

2/0 X 1/2 STUD 40 X 1/2 STUD #6 X 1/2 STUD

FTML20012 QTyY 10 FTML4o012 QTY 10 J3266 QTY 25
QT [T T

To Order Call:

708-447-4500 or Outside Illinois 800-837-8707

147



PAN ASSORTMENTS

aﬂ :' LA111C COPPER BATTERY LUG ASSORTMENT PH: 800-837-8707

=

#1 ¥ 3/8 HOLE COPPER LUG

Jassz QT 10
I

L O

#4 X 5118 HOLE COPPER LUG
Tis062 QTY 10
(IR R

#6 X 3/8 HOLE COPPER LUG

T36073 QTY 10
R

=0

2/0 X 5118 HOLE COPPER LUG
Ti6031 QTY 10
(ISR

5

#1 X 5/16 HOLE COPPER LUG

T6011 QTY 10
(R

=0

#4X 3/8 HOLE COFPER LUG
TI80s3 QTY 10
NEHR

=0

1/0 x 38 HOLE COPPER LUG
J4883 QTyY 10
A

=D

200 x %8 HOLE COPPER LUG
J36E ary 1o
LR

.

#2 x 318 HOLE COPPER LUG

=0

#6 X 1/4 HOLE COPPER LUG

=D

1/0 X 516 COPPER LUG

BATT TERMINAL 1/0 SPLICE

J384 QTY 10 TIEOT1 QTY 10 TaB021 QTY 10 FTMS100 QTY 10
I EnE AR R R O LTV
#4 X 1/4 HOLE COPPER LUG #5 X 5116 HOLE GOPPER LUG 110 X 1/2 COPPER LUG BATTERY NUT 1200 SERIES
TIB0B1  QTY 10 Ja8s1 OTY 10 T3B023 OTY 10 FT3750 QTY 10
[NAEE [T M NSE I e

Item reorder quantities shown. Initial item order quantities may vary.

BATTERY TERMINAL ASSORTMENT

PH: 800-837-8707

?

210 POSITIVE | STRAIGHT
FTFBT20P (=18 8:3

WIS

2/0 NEGATIVE | FLAG
FTFBAZ0N arY e

34 BLACK SHRINK TUBE
FTFHSE158 aTyY s

| LRI

2/0 NEGATIVE / STRAIGHT
FTFET20M QTY &

A A

TR AR

2i0 POSITIVE / FLAG
FTFBA20F QTY e

LR AT

3i4 RED SHRINK TUBE
FTFHSZISR  QTYS
AR TR

2/0 POSITIVE / RIGHT ELBOW
FTFRE20P Qrmrie

[V RN TTW NI

FTFREZON QTY 10

2/0 NEGATIVE | RIGHT ELBOW

BATTERY TERMINAL - FBC UNIVERSAL
FTFBCU Qarre

LT ]

29 POSITIVE / LEFT ELBOW
FTFLEZOP aTtr e

AT R

LRI

FTFLEZON aTye

LRV TARN

29 NEGATIVE / LEFT ELBOW

148

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

e LA139 HEAT SHRINK TUBE ASSORTMENT 708-477-4500 ‘%;
ml||1||T||||||u|||||u|||| 1 / 4 FTZAM P 1 4 (C L EAR)
o 3/8 FTFHS1416S (CLEAR)
(TR
o FTZAMP12 (BLACK)
(TR 1 /2 -

Mﬂi||||||||u||n|\|u||||||| 3 / 4 - FTF H 88 1 S B ( B LAC K )

(TR TTTRT _ FTF H S 8 1 S R ( R E D)

m&|||||||||||u||u|||||||||m|| 1 ” - FTFHS240SR ( RED )

(SR - FTFH 32 40 S (B L AC K)

¥ LA139C  HEAT SHRINK TUBE ASSORTMENT 708-477-4500 ‘ET%"F

arvs  FTFHS240S (BLACK) |[FTFHS240SR (RED) oty s

- 1 (TR A 1 -
orvs  FTFHS81SB (BLACK) [FTFHS81SR  (RED) arvs

- 3/ 4 (T TR 3/4 -
atvio  FTST126B  (BLACK) [FTST126R (RED) atv 1o

_= 1 /2 (T T 1 / 2 -
arvie  FTST386B  (BLACK) |[FTST386R (RED) aTy 10

—_— 3/ 8 I I 3/8 —
orvio  FTST146B  (BLACK) [FTST146R (RED) aty 1o

= 1/4 1/4 ==

A (TR
arvio  FTZAMP0O3  (BLACK) [FTZAMP3166R (RED) ary 10
3/ 1 6 O VR T 3/ 1 6 ——
—=\EA/=" 1o Order Call: 708-447-4500 or Outside lllinois 800-837-8707

= 149



PAN ASSORTMENTS

LA1438

MP-280 WEATHER PACK KIT

E 4

g
%

1 Pole Female Plug

2 Pole Female Plug

3 Pole Female Plug

5 Pole Female Plug

&

TPA Sccondary Lock

e

TPA Sccondary Lock

for T2065172WP for T15200027TWP
T12065172WP  Qty. § T15300027WF Qty. § T12040877TWP  Qty. 4 T12084881WF  Qty. 3 T12065248WP Qty. 3 T15300014WF Qty.15
NS R LT [ SRR O O L VRN IRV R [IUSURE AR IAT
——
-—

e

TPA Secondary Lack

1 Pole Male Plug

2 Pale Male Plug

2 Pale Male Plug

& Pale Male Plug

Seanad

TPA Secondary Lock

for T12040977WP for T12084831WP
T12034145WF Oty 15 T12065171WP Qty. 4 T15300002WF Qty. & T1208H4TWP Qty. 4 T12186400WP Qty. 4 T1532485TWP Oty.3
T o P B T R
-
. = . =
| — -
ok daesy 8 &
| -

TPA Secondary Lock for

12 ga. Femalse Terminal

14-12 ga. Femals Terminal

18-16 ga. Femals Terminal

Seal for 12 ga. Wire

Seal for 16-14 ga. Wire

T1208314TWP
T15200015WP Qty. 3 T12077413WP Oty. 15 T12128483WP Qty. 30 T12077411WP Oty. 30 T12015123WP Oty. 10 T12015323WP Oty. 30
IV A [T A I A LRI U S A O LT TR
| . B
8 !
obebedeler’ it L ® A B
- -
TPA Secondary Lock 12 ga. Male Terminal 14-12 ga. Male Terminal 12-16 ga. Male Terminal Seal for 18 ga. Wire Cavity Plug
for T12185400WF
TI1Z0846TIWP  Qty. 3 T12045254WF Qty. 18 T1212943TWP Qry. 30 T12045155WF Qty. 30 T12010233WP Qry. 20 T12010300WP Quy. 40

IO AR TR

LA TG

LA RS EET AT

L RN

LA

LT ARSI

Item reorder quantities shown. Initial item order quantities may vary.

LA185 DEUTSCH AT SERIES CONNECTORS 1-800-837-8707

16-14 GA PIN CONTACT

TATEDZ1518141  OTY 1
{10 S T
16-14 GA SOCKET GONTACT

TAT220918141  QTY 1
1 T

2 WAY PLUG

TDTOIS QTY 1
R IRATTVNI

¥

B WAY PLUG

TOTOBES QTY 1
LRI TRRTRI

12 WaY FLUG

TDTOE12S  QTY 1
URATTRTI

e

4WAY RECEPTACLE WEDGE

TOW4P  QTY 1

LRI

8 WAY RECEPTACLE WEDGE

TOWSBP  QTY 1

TR

L 4

2WAY RECEPTACLE

4 WAY RECEFTACLE

B WAY RECEPTACLE

.

2WAY RECEFTACLE WEDGE

TOW2ZP  QTY1
¥ LR

'Y

4WAY PLUG WEDGE

@

B WAY PLUG WEDGE

TDTO42P QTY 1 TOTO44FP  QTY 1 TDTO48F QTY1 WAY PLUG WEDGE TOW4S QTY1 TDWES QTY1
’ TDWIS QTY 1
TR T Wi IR T
2 WAY PLUG 4 WAY PLUG &WAY PLUG 3WAY RECEPTACLE WEDGE & WAY RECEPTACLE WEDGE 12 WAY RECEPTACLE WEDGE
TOTOE2S QTY1 TDTOB4S QTY 1 TDTOBES QTY 1 TOW3IP QTY1 TOWBP QTY1 TOW1ZP QTY 1
[ R TRATOAR I LR [ TH T T [IETMOT

L o

3WAY RECEPTACLE
TDTO43F  QTY 1

8 WAY RECEFTACLE
TOTO48FP  QTY 1

(TR

12 WAY RECEPTACLE
TOTO41ZF  QTY 1

3 WAY PLUG WEDGE

&

6WAY PLUG WEDGE
TOWES  QTY 1

@

12 WAY PLUG WEDGE
TOW125 OTY |

LTy

150

To Order Cal

708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

< v
: ] i o 3] J:ol ]
FUSMIN3 FUSMING FUSMINS FUSMIN750 FUSMIN10 FUSMIN15
aQry & aty § ary § aQTty § (&1 -1 Qry §
TR AT AR N R R R AT TN T
: -
am 1) Ai4) 4]
FUSMIN20 FUSMIN25 FUSMIN30 FUSATO3 FUSATO4 FUSATOS
Qry s aty 5 Qty 5 aty 5 Qry 5 Qty 5
(I M AT (LA I M
B i m | BT o
FUSATOT50 FUSATO10 FUSATO15 FUSATO20 FUSATO25 FUSATO30
Qry § Qrty § Qry § QTty § Qry 5 Qry §
AT AU RTURRO MR T RO LR R LTy LT
FUSMAX20 FUSMAX30 FUSMAX40 FUSMAX50 FUSMAX6E0
ary 1 ary 1 ary 1 Qry 1 Qry 1
LT WA T LT SRR AR AR

Item reorder quantities shown. Initial item order quantities may vary.

18x5
NYT224 QTY 100

1B X T2
NYT226 QrTy 100

316 X 11172
NYT2211 QTyY 100

516 X141/2
NYT2214 QTY 100

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
151




PAN ASSORTMENTS

LA140A COLOR NYLON WIRE TIE ASSORTMENT  1-800-837- 8707 T'%‘/;

NYT22BB

/18 X 7 1/2 BLACK
IIIHIIII\IIIIIIII NI

NYT226

3/16 X 7 1/2 NATURAL
[URTNTRRITITAN)

i

QTY 100 QTY 100

NYT21522
316 X 7 RED
ICEU A A

NYT21526

|
|

3/16 X 7 BLUE
LT

QTY 100 QTY 100
NYT21524 1 . NYTZ21528
3MB X 7 YELLOW ;

2 3M16 X 7 GRAY
LITHTRTRENEN ) ez s i
NYT21532 u NYT21533
3/16 X 7 NEON PINK _n 316 X 7 NEON ORANGE
NIRRT TR NN

QTY 100 QTY 100
NYT21525 _ NYT21527
3/M6 X 7 GREEN u 316 X 7 PURPLE
TR 1IN R
QTY 100 QTY 100
NYT21521 _ NYT21523
316 X 7 BROWN ﬂ /168 X 7 ORANG
ORI T e Ty 100 peiir |||||||||||||||||||||\|l|

Item reorder quantities shown. Initial item order quantities may vary.

i LA140B NYLON TIE ASSORTMENT  PH: 800-837-8707  Tegstes
hd

516 X 14172
NYT2214B  QTY 50

516 X 1412
NYT2214E QTY 50

1/8 X 14
NYT1814B QTY 100

M6 X112
NYT2211B  QTY 100

INEXT 2
NYT2268 QTY 100

‘

18X5
NYT224B  QTY 100

152

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

‘?%%‘%:':' LA140STB NYLON TIE ASSORTMENT PH: 800-837-8707
7

CABLE TIE .19 X 14.20 BLACK STL GRIP 50LBS
NYT5234MX  QTY 100

CABLE TIE .14 X 5.5 BLACK STL GRIP 40LBS
NYT524MX QTY 100

0 0 AR
]

CABLE TIE .19 X 7.31 BLACK STL GRIP 50LBS
NYT525MX QTY 100

AR
|

CABLE TIE .19 X 11.40 BLACK STL GRIP 50LBS
NYT5253MX  QTY 100

WD AT A
.|

CABLE TIE .19 X 14.20 BLACK STL GRIP 50LBS
NYT528MX QTY 100

Item reorder quantities shown. Initial item order quantities may vary.

LA180 BULB ASSORTMENT PH: 800-837-8707

s.‘-;"‘t -
e = < |
A ]

BULB 37 BULB 1156 BULB 3057

BB37 QTy 10 BE1156 QTyY 10 BB3057 QTY 1
(1w (MR (W
o
ST Hf i)
e S J
BULB 194 BULB 1157 BULE 1893
BB194 QTY 10 BB1157 QTY 10 BB1893 QTY 10
I T [
(« &
il
] J
BULB 67 BULB 3156
BB&7 QTyY 10 BB3156 QTY 10
LT LAy
Y € - =
=0 '
BULB 581 BULB 3157
BB561 QTy 10 BB3157 QTy 10
(W TR

=—_—él-‘ e”/_== To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
153




PAN ASSORTMENTS

LA112

COTTER PIN ASSORTMENT

PH: 800-837-8707

CP3I

)

6K
030 QTY 100
NREIEE

X2
CP4020  QTY 100
[N IE TR

4% 3
CPA0I0  QITY 100
LR T

———)

—

5/32 X112 532X 212 IMeX2
CP2512 aTy 100 CP2522 ary 100 CP3020 QTy 100
RN [T TRN J R R
Jzzxz2 s x11z us X212
CP1520 aTy 250 CP2012 aTy 250 cP2022 aTy 250
IR FORE I CRERTE) LT
e e —
ME X1 AMEX 112 32X
CP1010 aTY 500 CP1012 QaTy 250 CP1510 aTy 250
NI JLR T TR

Item reorder quantities shown. Initial item order quantities may vary.

% LA113 “E” STANDARD TYPE RETAINING RING ASSORTMENT PH: 800-837-8707
R

J

J

J

1/2 SHAFT 5/ SHAFT 3/4 SHAFT Ti8 SHAFT 1" SHAFT
J2744 QTY 100 Jaio aTy 50 J4102 QaTyY 50 J4103 QTyY 50 J4104 QTY 50
I [ [ [T [
316 SHAFT 7132 SHAFT 1/4 SHAFT 5118 SHAFT 3B SHAFT
J4093 QTY 100 J2717 QTy 100 J2715 aTyY 100 J1547 QTy 100 J4100 aTyY 100
I [ TR [T [

o ) ) ) )

1116 SHAFT 3132 SHAFT 1/8 SHAFT 964 SHAFT 5/32 SHAFT
J4097 QTyY 100 J2711 QTy 100 JZ712 aTy 100 J409s QTy 100 J27mi QTyY 100
JINTI [T [T I [T

TN IV J TS J i

154

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707




PAN ASSORTMENTS

LA114 INTERNAL SNAP RING ASSORTMENT PH: 800-837-8707
<7
1516 SHAFT 1318 SHAFT 1716 SHAFT 1 518 SHAFT
J4128  QTY 25 J4129 QTY 25 J4130  QTY26 J4132  QTY 25
[ JLATECRTENaTh A HETTATTRONT QAT TR
1" SHAFT 11/16 SHAFT 11/8 SHAFT 13/16 SHAFT 1114 SHAFT
J2759 QY50 J4126  QTY 50 J2760  QTY S0 J4127 QY 50 J2761  QTYS0
QAT L TAVAEATAE QI TRTATIAT T TATRATH RN
9/16 SHAFT 5/8 SHAFT 11118 SHAFT 314 SHAFT 7/8 SHAFT
J2755  QTY 50 J2756  QTY50 Ja124  QTYS50 J275T  QTY 50 J2758  QTY S50
TR JLLTTATCRRETATY QLTI JUARTATA VIO
1/4 SHAFT 5116 SHAFT 318 SHAFT 7116 SHAFT 1/2 SHAFT
J2750  QTY S50 J2751 QTy 50 Jz7s2 QTY 50 J2753  QTY 50 J2754  QTYSs0
AT AT TR LAy AR AT

Item reorder quantities shown. Initial item order quantities may vary.

15116 SHAFT 138 SHAFT 17116 SHAFT 1112 SHAFT 158 SHAFT 1314 SHAFT
Ja118  QTY 25 J4119 QTY 25 Ja120 QTY 25 Ja121 QTY 25 Ja122 QTY 25 J4123 QY 25
TR JUATITATRn LTS AT LIRS JUAICTHRATIY
7/8 SHAFT 1" SHAFT 11116 SHAFT 1118 SHAFT 13116 BHAFT 1144 SHAFT
42771 QTY 50 42772 QTY 50 Ja116  QTY 50 92773 QTY 50 44117 QTY 50 J2774 QTY 50
TN A ACEAARTRTT AT TR TR A TRy
7116 SHAFT 112 SHAFT 9116 SHAFT 5/B SHAFT 11116 SHAFT 34 SHAFT
12768 QTY 50 J2767  QTY 50 J2768  QTY 50 J2769  QTY 50 14115 QTY 50 Jz70  QTY 50
LT TN NIRRTV AN LACLATIRTTAS AT
3116 SHAFT 114 SHAFT 9132 SHAFT 518 SHAFT 11732 SHAFT /8 SHAFT
Jat12 QTY 50 J2783  QTY 50 Jat13  QTY 50 J2784  QTY 50 Jat14  QTY 50 J2765  QTY 50
UTOERATITATS JUAITRNTATTRA AR AT M UCTACT RIS TR

To Order Call: 708-447-4500 or Outside

155



PAN ASSORTMENTS

Ry hy
15116 SHAFT 1 38 SHAFT 1716 SHAFT 11/2 SHAFT 1508 SHAFT 1344 SHAFT
Ja118  QTY 25 Ja11s QY 25 Ja120 QY 25 Ja1z1 QT es Ja12z QTY 25 Ja1z3 QTY s
[ R NINTTIDY [T TN TR R NANNIY AT TROT

7/8 SHAFT 1" SHAFT 1116 SHAFT 1 1/8 SHAFT 1 3/16 SHAFT
J2TTi aTY sy J2TTz aTY S0 J4116 QTY 50 J2TT3 QTY S0 41T QTY 50
JLNTHRATAEORNT [T [IEE T LR IR0
172 SHAFT 916 SHAFT 518 SHAFT 11/18 SHAFT 314 SHAFT
JEZTET  QTY 50 JETES QTY &0 J2Z7T83  QTY 50 J4115 QTyY 50 J2770 QTY 50
(IR (I LRI AT AT NN
316 SHAFT 9132 SHAFT 5116 SHAFT 11132 SHAFT 8 SHAFT Ti16 SHAFT
Jarz QT S0 Ja11z QTY S0 Jamed QT 50 J4114 QTY 50 J2TES  GTY S0 J2TEE  QTY 50
ST TR AR I O 1 ST IRV R LT T

Item reorder quantities shown. Initial item order quantities may vary.

v v
e
— i == = _
332 X 34 X112 3116 X1 14 X 34 SM6 X112 THeX11/2
J2727  QTY 100 J2731  QTY 100 J2736  QTY 100 J4616 QTY 50 J4628  QTY 50 J4652 QATY 25
T [ENANELD AR [ IR I
— —_— — —_— e = —_—
332 X114 532 X 314 3Mex 112 14X 114 5ME X2 THME X 2
J4581  QTY 100 Jas581 QTY 100 J4802  QTY 50 Jag18  QTY 50 JAg3n  QTY 50 J4B54 QTyY 25
L I LI [ I LT
—_— — = —_ — =]
18 X 12 532X 11/4 Ti32 X 3/4 14 X112 3B X1 2 x112
J4s83  QTyY 100 J4583  QTY 50 J2T38 QTY 50 Jag1s  QTY S0 Jagis  QTY 25 J46se  QTyY 10
I I L] [ IR N
—— ——
— - E=n— =
18 X1 M6 X 5/8 TRz X112 5M6 X 34 asxXid2 12X2
J4586  QTY 100 J4538  QTY 50 J2739 QTY 50 J4624 QATY 50 J4641 QTY 25 J4860 QTY 10
(RTATTRLTTTRO [T NINTEVAT (R JUURNTTTRTRiN [[NIATTIN TN

156

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA116

O-RING ASSORTMENT

1"1.D. X1 1/4 0.D.
OR214 QTY 25

111610, X 1516 O.D.
OR215 QTY 25

11/81.D.X 128 0.0
OR216 QTY 25

13/M181.D. X 1716 0.D.
OR217 QTY 25

11/41.D.X11/20.D.
OR218 QTY 25

18M61.D.X11/20.0D.
OR219  QTY 25

1116 1.0. X 7/8 Q.D.
OR115 QTY 25

2/41.D. X 15116 Q.D.
OR116  QTY 25
U ETTRRTY

341D X1* QD.
OR210 QTY 25

31410, X 1116 0.0,
ORZ11  QTY25
LA

781D X 118 0.0
OR212  QTY 25
AR

15/16 1.D. X 1 3116 O.D.
OR213  QTY 25

@)

38 1.D.X 12 Q.D.

O

3/81.D. X 916 0.D.

O

TH6L.D. X 5/8 0.D.

O

1/21D. X 1116 Q.D.

O

916 1D, X 3/4 Q.D.

5/81.0. X 13116 Q.D,

OR01Z QTY25 OR110  QTY25 ORI QTY25 OR112  QTY25 OR113  QTY 25 OR114  QTY25
LI LT QLAY RN R UERTIRTOO T

1/81.0. X 1/4 0.D. 5/321.D. X 8/32 0.D. 316 1.D. X 5116 O.D. 71321.D. X 11132 0.0, 1/41.0. X 38 O.D. 5/16 LD, X 7116 0.D.

OROD6  QTY 26 OR007 QTY 25 ORODE  QTY 25 OR00S QTY 25 OR010  QTY25 ORO11  QTY25
LRy LRy [T LRy LRI THTEmEm

Item reorder quantities shown. Initial item order quantities may vary.

LA116C

BOSS, ORS & SPLIT FLANGE O RINGS

O

O

@]
OR%904 OR910 OR920 OR01290 OR02190 OR21990
1/4 BOSS QTy: 30 5/8 BOSS QTy: 30 1114 BOSS QTY: 10 3/8 ORS QTY 30 ORS15161D90 QTY 30 SPLIT FLANGE 1-5/16 90
I I T T I I QTY 20
OR905 OR912 0OR924 0ORO01490 OR02590 0OR22290
516 BOSS QTY:30 3/4 BOSS QTY: 30 1-1/2B0OSS QTY: 10 1/2 ORS QTY 30 1-3116 ORS  QTY 30 1-1/2 SPLIT FLANGE QTY 20
I TR M WA I I
QR906 OR914 0OR932 ORO01690 OR02990 OR22590
3/8 BOSS QTY: 30 7/8 BOSS QTyY: 30 2" BOSS QaTyY: 10 5/8 ORS QTyY 30 1-1/2 ORS QTyY 30 1-7/8 SPLIT FLANGE QTY 20
I NI T [T W I
O o O O Spiil Flange O Split Flange
OR908 0OR918 0OR011%0 0OR01890 OR21490 UR22890 0OR21090
1/2 BOSS QTY: 30 1* BOSS QTY: 30 5/16 ORS QTY 30 3/4 ORS QTY 30 1" QTY 20 21/4 QtY 10 34 QTY 20
T (WA (R AW T

To Order Call:

708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

o LA118 WOODRUFF KEY ASSORTMENT i

118 X112 /8 X 518 532X 718 316X 1 732X 118 14X1 18
13120 QTY 100 43101 QTY 100 13106 QTY 100 J3108  QTY 50 J3113 QTY 50 J3116  QTY 50
LSRN JL R A JN IR IR TRV

@2 X2 178 X 314 318 %56 316 %1178 14X 304 14 X114
J3121 QTv 100 Ja10z - QTY 100 4322 QTY 100 J3110 QTY 50 43123 QTY 50 43117 QTY S50
T AR [IENEI AT A AN AR

332X 58 B/32 X 58 I8 X 34 TI3ZX T8 14X 78 M6 X1
J3103 aTy 100 J3104 QTy 100 13107 QTY 100 J3111 ATy 50 J3114 QaTy 50 J3118 aTy 50
[T (TR (TR ST LR R LT
P - -, B e .
1B X 172 32 X Jia JI16XTI8 Ti32X1 14 X1 HM1E X118
J2100 QTy 50 J3105 Q7Y 100 J310s QTy 50 J311z QTyY 50 J3115 aTyY 50 J3118 QTY S0
LT (TR DRI [T TR AN LTI

Item reorder quantities shown. Initial item order quantities may vary.

\ % ~ LA134 GREASE FITTING ASSORTMENT  PH: 800-837-8707
v

1/8 STRAIGHT GREASE FITTINGS 1i4-28 STRAIGHT GREASE FITTINGS MM STRAIGHT GREASE FITTING
ZF1800 QTY 25 ZF1428 QTY 25 ZFMMS QTY 25

118 45° GREASE FITTINGS
ZF1645 QTY 25
TR e

1i4-28 45° GREASE FITTINGS
ZF1445 QTY 25
A

&

10MM STRAIGHT GREASE FITTING
ZFMM10 QTY 25
IR N

1i8 $0° GREASE FITTINGS
ZF1880 aTy 25

1/4-28 90° GREASE FITTINGS
ZF1480 aTy 25

BMM 90" GREASE FITTINGS
ZFMM380 aTyY 25

1/8 STRAIGHT GREASE FITTING 1.77 LONG
ZF18177 QTY 10

#

GMM STRAIGHT GREASE FITTING
ZFMME QTY 25

10MM 50° GREASE FITTINGS
ZFMM1080 QTY 25

158

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA141

TUBE CLAMP ASSORTMENT

PH: 800-837-8707

"

14
Jagag2 QTY 25

5/8
J2666 QTY 25

N,

"
J2669 QTY 25

"

5118
J2683 QTy 28

J2geT QTyY 25

J2689

"

38
J2684 Qry 25

8
J2668 Qry 25

1-14
J2670 QTY 25

s

1z 1144
J2665 QTyY 25 J2668 J2670
[ [T MR
— L e —
Item reorder quantities shown. Initial item order quantities may vary.
£‘= LA335 BONDED SEALS 1-800-837-8707 &?
g i
< <
o (o) O o
VF400804 QTY1 VF400808 QTY 1 VF400808 QTY 1 VF400610 QTY1
04MM BONDED SEAL 08MM BONDED SEAL 08MM BONDED SEAL 10MM BONDED SEAL
TN TSR (VRPN ARV (DGR
VF400812 QTY1 VF400614 QTY 1 VF400818 QTY 1 VF400618  QTY 1
12MM BONDED SEAL 14MM BONDED SEAL 16MM BONDED SEAL 18MM BONDED SEAL
U AR U TTATAAATAT AR U Y
VF400620 QTY1 VF400622 QTY 1 VF400626 QTY1 VF400627 QTY1
20MM BONDED SEAL 22MM BONDED SEAL 26MM BONDED SEAL 27MM BONDED SEAL
AT UL AR AT U TR
VF400830 QTY1
30MM BONDED SEAL
{0 O

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707

159



PAN ASSORTMENTS

LA157 AIR HAMMER ACCESSORIES PH: 800-837-8707

AJT4508 I AJTS05

ary + 401 DIA SHANK TODCO DOOR RIVET SETTER Ty 1 401DIA SHANK WIDE SCAPER
AITA0L (AR AIT162g ﬁ L]
Ty 401 DIA. SHANK CLAW PANEL CUTTER QIY1  401DIA SHANK 3116 BRAZIER HEAD RIVET SETTER
AJT909 e AJT1621 = 1y
ary 1 401 DIA. SHANK STRAIGHT PANEL CUTTER QTY1 401 DIASHANK 1/4 BRAZER HEAD RIVET SETTER
AJTo2 (I AJTI610 LT
oY 207 DIA SHANK TAPFREN RIVFT PUNGH QTv1 4071 DIASHANK 3715 MONIFIED RRAZIFR REAT RIVFT SETTER
AJT912 N NI AJTE95 b LT
ary 401 DIA. SHANK RIVET CUTTER arvi BEEHIVE SPRING
AJTS10 m T ] AJTES7 n LT T
Qv 401 DIA. SHANK aTY 1 QUIGK CHANGL SPRING

Item reorder quantities shown. Initial item order quantities may vary.

<

pﬂ. os  LA159  MILTON SHOP 3/8” & 1/2” AIR HOSE FITTINGS
3

PH: 1-800-837-8707

BRASS HOSE BARE 3/8 HOESE X 1/4 FIPE
BFPUCE4 QTY &

1/2 HOSE x 1/2 FEMALE COUPLER BODY
MLT1815 aTy 1

3/8 HOSE x 1/4 NPT FEMALE FIFE COUFLER

MLT71E  QTY 1

BRASS HOSE BARB /8 HOSE x 1/2 PIPE
BFPUCEE QTYS

I

1/2 HOSE x 11Z MALE COUPLER BODY
MLT1816  QTY1

LIV

Sy
Rt e )

2/8 BARBED UNION
BFFUUS Qry s

T ER

38 HOSE x 1/4 NPT MALE PIFE COUPLER
MLT718  QTY1

——

1/2 HOSE x 1/2 NPT MALE PLUG
MLT1817 QrYy1

LT

1i4 NPT MALE PIPE x 3/ HOSE
MLT7ZT  QTY 1

Iy

Sl
RS aes

1/2 BARBED UNION
EFPUUE QTYS

1/2 HOSE x 1/2 NPT FEMALE PLUG
MLT1812 aTy 1

L -2

1t4 NPT FEMALE PIPE x 38 HOSE
MLT728  QTY 1

To Order Cal

: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

% LA337 BRASS HOSE BARBS & PUSH LOCKS  1-800-837-8707
<

@ & & @&

&

BFPUC42 QTY s BFPUC44  QTY S BFPUC46 QTYS BFPUC62 QTYS BFPUCG4 QTYS BFPUC6E  QTY S
1/4H X 1/8P 1/4H X 1/4P 1/4H X 3/8P 3/8H X 1/8P 3/8H X 114P 3/8H X 3/8P
(T T LT LT LT Ty
e - S e A o, = “.—n.....:, a
@& | @& | @ @ | @
BFPUCE8 QTYS BFPUC34 QTYS BFPUCBE QTY S5 BFPUCBS QTYS BFPUC106 QTYS BFPUC108 QTYS
3/8H X 1/2P 1/2H X 1/4P 1/2H X 3i8P 1/2H X 1/2P 5/8H X 3/8P S/8H X 1/2P
I LI LT U U T
@ | @ (@ | ==
BFPUC1012 QTY5 BFPUC128 QTY5 BFPUC1212 QTYS5 BFPUU4 QTY5 BFPUUS QTYS BFPUUE QTY5
5/8H X 3/4P 3/4H X 1/2P 3/4H X 3/4P 1/4 PUSH ON HOSE UNION 5/16 PUSH ON HOSE UNION 3/8 PUSH ON HOSE UNION
LT (NI [Tnma I L LT
QTY 5 QrY s QaTtys
= | e = — ———— —
BFPUUS  QTYS BFPUU10  QTY5 BrPuU1z - arys |sreouaz (IIIAIINEINNN | seeoves (IINARLNINANIN | srpuuce RENNILIMENENE
1/2 PUSH ON HOSE UNION 5/6 PUSH ON HOSE UNION 3/4 PUSH ON HOSE UNION PUSH ON HOSE UNION 1/4 X178 PUSH ON HOSE UNION 1/2 X3/8 PUSH ON HOSE UNION 58 X1/2
L L L srpuuea [[INIANLIANIENN | sFeuwos IERNILINILMILI | s=euurzs [IRRIIACINLDN
PUSH ON HOSE UNION 378 X 1/4 PUSH ON HOSE UNION 5/3 X &8 PUSH ON HOSE UNION 3/4 X 1/2

Item reorder quantities shown. Initial item order quantities may vary.

LA127 AIR BRAKE HOSE FITTING ASSORTMENT PH: 800-837-8707 &.ﬂ,

<&
1/4 AIR DRAIN COCK 3/8 AIR DRAIN COCK 1/14 PET COCK
BFDA4 QTY 5 BFDAS QTY 5 BFD4 QTyYs
[T TR LIRS
[+ s
3/8 X 1/4 MALE CONN. ASSEMBLY 3/8 X 3/6 MALE CONN. ASSEMBLY 3/8 X 1/2 MALE CONN. ASSEMBLY
BFAHC124A QTY 5 BFAHC126A QTY § BFAHC128A QY s
LTI AT (T
| &, | iy
3/8 X 174 MALE CONN. 3/8 X 3/8 MALE CONN. 3/8 X 1/2 MALE CONN.
BFAHC124 QTY 5 BFAHC126 Qrys BFAHC128 QTY 5
HIEE0 A0 R AN T J ATy
E (i NIM!“ ail)
38 NUT 3/8 SLEEVE 3/8 NUT & SPRING
BFAHN12 Q1Y 5 BFAHS12 QTY 10 BFAHSP Qry s
[ LT UL

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA127C AIR BRAKE HOSE FITTING ASSORTMENT

PH: 800-837-8707

1/2 X 38 MALE CONN. ASSEMBLY
BFAHC146A arys

R RN T

&
112 X 1/Z MALE CONN, ASSEMBLY
BFAHC148A QaTy s

QLTI

=

1/4 PET COCK
BFD4  oTYE

DN

[J “l l

3/8 X 1/4 MALE CONN. ASSEMBLY
BFAHC124A aTtys

38 X 3/8 MALE CONN. ASSEMBLY
BFAHC1ZBA aTy s

QLR

3/8 X 1/2 MALE CONN. ASSEMELY
BFAHC1Z3A aTvs

IR E AR

L AT

=

12 NUT 112 SLEEVE 172 SPRING NUT
BFAHN14 QryY s BFAHS14 QTy 10 BFAHSP14 QTY 5
(IR LN R RTTAIN (N

318 NUT 318 SLEEVE 318 SPRING NUT
BFAHN1Z  QTYS BFAHS1Z  QTY 10 BFAHSP  QTYS
[0SR R (IR LT

Item reorder quantities shown. Initial item order quantities may vary.

LA125 SOLDERLESS COMPRESSION FITTING ASSORTMENT

(GASOLINE USE)

» .

18 NUT 118 SLEEVE
BFSCNZ  QTYS BFSCSLZ  QTY 50
[N MRV AR

118 UNION 318 X 118 MALE CONNECTOR
BFSCUZ  QTYS BFSCC32  QTYS
LN TRV A

| -~
4 -

516 X 174 MALE CONNECTOR
BFSCCE4  QTY S

516 X 1/8 MALE ELBOW
BFSCES2 aTry s

LTV AT

JME-NUT 316-SLEEVE 3116 UNION 1/4 X 1/8 MALE CONNECTOR 1/8 X 1/8 MALE ELBOW
BFSCN3 QTY s BFSCSL3 QTY 50 BFSCL3 QTY s BFSCC4a2 QTYS BFSCE22 QTY S
AT LR TTV TR LTI T [ OBE (ISR
£ o gy S
I -
W4 NUT 1id SLEEVE 1/4 UNION 1/4 X 1/4 MALE CONNECTOR 3116 X 1/8 MALE ELBOW
BFSCN4 QTY 5 BFSCSL4 QTY 50 BFSCL4 atYys BFSCC44 QTY s EFSCE32 QTY 5
RIS A JL 0 T TR LTI JL 0 T [
[l rY ™ o —
SMENUT Ei1& SLEEVE Ei18 UNION 5/16 X 1/2 MALE CONNECTOR 1/4 X 1/2 MALE ELEQW
BFSCNE QrY & BFSCELS QTY 50 BFSCUS QTY § BFSCCE2 ary s BFSCE42 ary s
[NV M TRV TR JLANTTATTAD N DTV T [T REN

162

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA124

45 DEGREE SAE FLARE FITTING ASSORTMENT

< v
114 NUT 1/4 UNION 1/4 X 1/8 MALE CONNECTOR | 1/4 X 1/4MALE CONNECTOR 1/4 X 1/8 MALE ELBOW 114 X 1/4 MALE ELBOW
BFSFN4 QTY5 BFSFU4 QTYS BFSFC42  QTYS BFSFC44 QTYS BFSFE4Z QTY5 BFSFE44 QTY5
LN LA L A [WNRImm QAT [0
516 NUT 5/16 UNION 5/16 X 1/8 MALE CONNECTOR | 5/16 X 1/4 MALE GONNECTOR | 6/16 X 1/8 MALE ELBOW 5/16 X 1/4 MALE ELBOW
BFSFNS QTY5 BFSFUS  QTY5 BFSFC52  QTYS BFSFCS4 QTYS BFSFES2 QTYS BFSFES4  QTYS
(I [ QLT ATV QLA T QAT [T
38 NUT 318 UNION 318 X 1/8 MALE CONNECTOR | /8 X 14 MALE CONNECTOR 318 X /8 MALE ELBOW 308 X 1/4 MALE ELBOW
BFSFNG  QTY 5 BFSFUS QTY5 BFSFCs2  QTYS BFSFCsa  QTYS BFSFE62Z QTY 5 BFSFES4 QTY5
UMY LA ATTTY LAV AR QAT [
112 NUT 112 UNION 172 X 1/4 MALE CONNECTOR | 1/2 X 3/8 MALE CONNECTOR 112 X 14 MALE ELBOW 112 X 3/8 MALE ELBOW
BFSFNS QTYS BFSFUE  QTYS BFSFC84 QTYS BFSFC86 QTYS BFSFES4 OQTYS BFSFESE QTYS
JUILINTATOY [ LT ATGATET AR TR QAT [0

Item reorder quantities shown. Initial item order quantities may vary.

LA126 INVERTED FLARE ASSORTMENT

PH: 800-837-8707

g
k4 v
. Il . 5
. & W I me
NUT 318 UNION 318 MALE CONNECTOR 316 X 1/8 MALE CONNECTOR 2/8 X 1/8 MALE ELBOW 90° 516 X 1/8
BFIFN3 Qry s BFIFU3 Qrys BFIFC32 aTty s BFIFCE2 Qrys BFIFESZ arrs
LRV ULV RTRTIATY QLTS UV QRTINS
8 ({1115 l f *
Q i i S
NUT 1/4 UNION 1/4 MALE CONNECTOR 1/4 X 1/8 MALE CONNECTOR 38 X 1/4 MALE ELBOW 907 516 X 1/4
BFIFN4 Qarys BFIFU4 Qarys BFIFC42 QaTy s BFIFCG4 QaTYs BFIFE34 QaTys
LT SR QLT LTV TATT MV
® @ il S ol m@
7 e b
NUT 518 UNION 516 MALE CONNECTOR 5/16 X 1/8 MALE ELBOW 807 3116 X 1/8 MALE ELBOW 80° 3/8 X 1/8
BFIFNS QTY 5 BFIFUS Qrys BFIFCS52 Qry s BFIFE32 QTy s BFIFEE2 Qrys
T IER A TN [HITETVITD) TV [N
! | - e
» @ i =e e >
NUT 218 UNION 3/8 MALE CONNECTOR 516 X 1/4 IMALE ELBOW 45% 1/4 X 1/4 MALE ELBOW 80° 2/8 X 1/4
BFIFNGB Qry 5 BFIFUB Qry s BFIFCS4 aTys BFIFE444 Qry s BFIFEG4 Qry s
T TER A LTIy LOVTEniD UIETAFERA LT

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

163



PAN ASSORTMENTS

LA154 45 DEGREE SAE FLARE FITTING ASSORTMENT

PH: 800-837-8707

T m

MALE CONM. 3/8T X 3/5P
BFSFCSE aTy 5

LTS

MALE CONN. 3/8T X 1/2P
BFEFCSE ary s

LT

MALEELBOW 38T X3P
BFSFESB qaTty s
LR

BFSFEBS

LA

aTy s

-

)

£

MALE CONN. 12T X 1i2P MALE ELBOW 1/2T X1/2P UNION TEE  3/8T UNION TEE 12T
BFSFCE88 QTY s EBFSFES8 QTY S BFSFTE QTY s BFSFTE QrYs
LTV LTIV I [LUITERNN
P\l n AL n é
NUT 58T MALE CONN. 5/8T X 2/8P MALE CONN. S/8T X 1i2P UNIQN TEE  8/2T
BFSFN10 aTty g BFSFC108 Qry s BFSFC108 QTy s BFSFT10 aTty s
NIRRT LR NIRRT TR
o
MALE ELBOW 58T X 38P MALE ELBOW 5/8T X 1/12P UNION  5/8T
BFSFE106 QTY s BFSFE108 QrYs RFSFLUM0 QTY s
[ LRI IFURMETT TR

Item reorder quantities shown. Initial item order quantities may vary.

=Y = (=t i.-k. == 3“
112 SLEEVES 12 NUT 12 UNIOM 12T X 1/4P MALE CONNECTOR 12T X 3/8P MALE CONNECTOR 12T X 174P MALE 50° ELBOW
BFFLSE QTY 25 BFPLNE QTY s EBFPLUS QTYS BFPLCE4 QTYS BFPLCE6 QTY 5 BFPLE24 QTY s
LTy AR QLT LML LAy LIRSy
, == ——— o
<
3’8 SLEEVES 38 NUT 38 UNION 3/8T X 1/8P MALE CONNECTOR J/8T X 1/4P MALE CONNECTOR 3/8T X 1/4P MALE 80° ELBOW
BFPLSE QTyY 50 BFPLNS aTy § BFFLUS aTY s BFPLCE2 [+1n 8] BFPLCE4 QaTY 5 BFPLEs4 aTy s
QT TNTRTTNr NI VIR LN TR JL TRy JLN TSRy
~
1/4 SLEEVES 14 NUT 1/4 UNION 1/4AT X 1/8P MALE CONNECTOR 1/4AT X 1/4P MALE CONNECTOR 1/AT X 1/8P MALE 80° ELEQW
BFPLS4 QTY 50 BFPLN4 aTy & BFPLU4 aTtys BFPLC42 QTY s BFPLC44 QaTyY & BFPLE42 aTyY s
QLT AT NN (IR LN RIS |V
= *‘”"‘ '
[~ ¥ g e
- - past ] ]
1/8 SLEEVES 178 NUT 1/8 UNION /8T X 1/8P MALE CONNECTOR | 1/8T X 116P MALE CONNECTOR 1/8T X 1/8P MALE 80° ELBEQOW
BFPLSZ QaTyY 50 BFPLNZ aTy s BFPLUZ aTty s BFPLCZ22 QaTyY s BFPLC21 aTyY & BFPLE22 aTy s
TRy AN (RN LN LN IRV R

164

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

ASSORTMENT  PH: 800-837-8707 %‘

MALE CONN. 1/4T X 3/8P
BFPLC4E  QTYS
AT

MALE ELBOW 1/4T X 1/4P
BFPLE44 QTY 5

MALE ELBOW 1/4T X 3/8P
BFPFLE46  QTY5
TR TANT

MALE ELBOW 3/8T X 1/4P
BFPLEE4  QTYS
QLA

MALE CONN. 3/8T X 2/8P
BFPLCE6 QTY 5

MALE CONN. 3/8T X 1/2P
BFPLCE8 QTY 5

MALE ELBOW 3/8T X 3/8P
BFPLEG6 QTY 5

MALE ELBOW 2/8T X 1/2P
BFPLEGE QTY s

MALE CONN. 1/2T X 1/2P MALE ELBOW 1/2T X 3/8P MALE ELBOW 1/2T X 1/2P
BFPLCSE  QTYS BFPLESS  QTYS BFPLESS  OTYS
LA (NI RN

-
UNION TEE 1/2T

BFPLTS QTYs

UNION TEE 3/8T
BFPLTS QTY S

Item reorder quantities shown. Initial item order quantities may vary.

LA147 NYLON AIR BRAKE FIT / TRAILER REPAIR PH: 800-837-8707

L
: -A. ) = ]
= >
38 NUT 3i8 SLEEVE 3/8 INSERT 3i8 UNIONS 3/8T X 1/4P MALE CONNECTOR 3i8T X 3/8P MALE CONNECTOR
BFPLNE  QTY S5 BFPFLSE  QTY 50 BFPLING  QTY 50 BFPLUS aTY s BFPLC84 Qry s BFPLCES Qry s
LRI AR JTHEAEITA LA M T L CRUTAT T RTQTE

3/8T X 1/2P MALE CONNECTOR 38T X 1/4P MALE ELBOW 3/8T X 318P MALE ELBOW /8T X 1/2P MALE ELBOW 38T TEE
BFPLCE8  QTYS BFPLEG4  QTYS BFPLESE  QTYS BFFLESE QTY S BFPLTE  QTY2
QAT AT AT QAU AR LA A
12 NUT 1/2 SLEEVE 172 INSERT 172 UNIONS 1/2T X 1/4P MALE CONNECTOR 1/2T X 3/8P MALE CONNECTOR
BFPLNE  QTY5 BFPLS8  QTY25 BFPLINS QTY25 BFPLUS  QTYS BFPLCB4  QTYS BFPLCBE  QTY S
JUC ORI LA [ AT MT AR TR

12T X 1/2P MALE CONNECTOR
BFPLC88 QTYS

1/2T X 1/4P MALE ELBOW
BFPLEB4 QTYs

1/2T X 3/8P MALE ELBOW
BFPLEBE QTY S

1/2T X 1/2P MALE ELBOW
BFPLESS QTY s

1/2 TEE
BFPLT8 QTY 2

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707

165



PAN ASSORTMENTS

o
INSERT 5/8 NUT /8 SLEEVE &/8 UNION 58
BEALINID  QTY 10 BFPLN10  GTY 10 BFPL$10  QTYS BFPLUD  QTYS
LR AR T (W AERIARRIRR R SRR

MALE CONM. 5/3X3/8

MALE CONMN. 5/8X1/2

MALE ELBOW 5/8 X 3/8

MALE ELEOW 58 X 1/2

BFPLC108  QTYS BFPLC108  QTYS BFPLE108  QTYS BFPLE1OE  QTYS
[N SN ANENE0 N R S
INSERT 3/4 NUT 314 SLEEVE 314 UNION 314
BFPLINI2  QTY10 BFPLN1Z  QTYS BFPLS12  QTY 10 BFPLU1Z  QTY3
JLN [N QLA JLN AT

MALE CONN.  3/4X1/2

BFFLC1ZE  OTY3
T I

MALE ELBOW 3/4X1/2
BFPLE128  QTY3
O

Item reorder quantities shown. Initial item order quantities may vary.

LA195 PLASTIC LINE ASSORTMENT 1/4” - 1/2”

2 =

aksin

1/2T X 1/4P MALE CONNECTOR

1/4 SLEEVES & INSERTS A4 NUT 1/4 UNION 1/4T X 1/8P MALE CONNECTOR | 3/8T X 1/8F MALE CONMECTOR
LEFLES |Ill|l]l ”1“]” BFPLN4 QTY s EFPLL4 QTyY s EFFLC42 QTY s BFPLC&2 Qarys EBFPLCE4 QTYs
RFRLING [ BT UL [Ty A TRTE MR ER [T

- 18 Y o el
C = : ] kel
- !

3/8 SLEEVES & INSERTS 38 NUT 3/8 UNION 1/4T X 1/4P MALE CONNECTOR | 3/8T X 1/4P MALE CONNECTOR 1/2T X 3/8P MALE CONNECTOR
BreLss BFPLNE QTYs BFPLUG aQTyYs BFFLCa44 QTYs BFPLC&4 QTtys BFPLCS86 Qrys
EFPLING (NN CRENFRIET [T AT AR TR LRI

= s o
2 = 2 o pior
< ! W =L

112 SLEEVES & INSERTS U2 NUT 112 UNION 14T X 1/8P MALE 20° ELBOW BT X 1/4F MALE 45" ELBOW 12T X 1/4F MALE 30" ELBOW
REPLSE  (IMIE BFPLNE atys BFPFLUE  QTYS BFPLE42 aTys BFPLE4B4  QTYS BFPLES4 atys
seeLs  (IUIIIANNN T S (TR S (TR

3 F GREREE
. 8 - 7} - . *E g =
1/4 TEE 3/8 TEE 112 TEE 1/4T X 1/4P MALE 90° ELEQW /8T X 1/4P MALE 920° ELBEQW 72T X I8P MALE #0° ELEQW
BFPLT4 QTry s BFPLTE aTtys BFPLTE QTY 5 BFPLE44 aTty s BFPLES4 aTty s BFPLE8G aTty s
LD CARONTE 1 U TRV [y I THAI AT LN T

166

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707




PAN ASSORTMENTS

== LA307 BRASS ELBOW ASSORTMENT 1-800-837-8707
<

==

5/32X1/2 BF DOT PL %0 ML EL
BFPLE12 QTY 5

R TR
e
L

1/8T X 1/8P MALE 90° ELBOW
BFPLE22 QaTYy s

BFPLE46 QrY s

BFPLE62 aTy s

1/4X3/8 BF DOT PL 90 ML EL

3/8X1/8 BF DOT PL 90 ML EL

3/8X1/2 BF DOT PL 80 ML EL
BFPLEEB Qrr s

12T X 1/4P MALE 90° ELBOW
BFPLES84 aTty s

5/8X3/8 BF DOT PL 90 ML EL.
BFPLE106 QrY 5

5/8X1/2 BF DOT PL 90 ML EL
BFPLE108 aTYy s

1/4T X 1/8P MALE 90° ELBOW

BFPLE42 Q1Y 5

i

1/4X1/4 BF DOT PL 90 ML EL
BFPLE44 QTY 5

BFPLE64 QTY s

3/8T X 1/4P MALE 80° ELBOW

iw

1/2X3/8 BF DOT PL 80 ML EL
BFPLEB6 QTY s

W

BFPLEG6

3/8X3/8 BF DOT PL 90 ML EL

=

1/2X1/2 BF DOT PL 90 ML EL
BFPLEBB

Qry s

3i4X1/2 BF DOT PL 90 ML EL

BFPLE128 QTY s

Item reorder quantities shown. Initial item order quantities may vary.

~

—  LA136 PLASTIC LINE AIR BRAKE FITTING TRAILER ASSORTMENT PH: 800-837-8707 5

b 4

v

]

=

e

UNION 5/32 MALE CONN 5/32 X 116 MALE CONN 5/32 X 1/8 MALE ELEQW 5132 X 1/8 MALE ELEQW 3/8 X 1/2 UNION TEE 2/8
aTtys aTyYs TY 5 aTtys aTtys
BFPULU1 BFPULC11 BFPULC12 BFPULE12 BFPULEES BFPULTE
I [T TR [N VTR LRI [T IV TR T
UNION 174 MALE GONN 174 X 118 MALE CONN 1/4 X 114 MALE ELBOW 114 X 1/8 MALE ELBOW 1/4 X 114 UNION TEE 1/4
QTY S QTY s QTY S QTY S QTY 5 QTY s
EFPULL4 EBFPULC42 BFPULC44 BFPULE42 BFPULE44 BFPULT4
JUAN WA LT T LN T TR LT T LT T L TR
UNION 3/8 MALE CONN 3f8 X 1/4 MALE CONN 3/8 X 38 MALE CONN 3/8 X 1/2 MALE ELBOW 33 X1/4 MALE ELBOW 3/ X 318
aTys aTys atyYs aTy s aTtys
BFPULUS BFPULCS4 BFPLULCES BFPULCEE BFPULEB4 BFPULESE
(NI LT Ty LIRS A 0O S0 IRE IS0 LNy T
'8~ =4 il ==
UNION 112 MALE CONN 172 X 114 MALE CONN 12 X 3/8 MALE CONN 12 X 112 MALE ELBOW 1/2 X 318 MALE ELBOW 1/2 X112 | TEE
arys ary s ary s 1z
BFPULUS BFPULCE4 BFPULCEE BFFULCES BFPULEBE erruLess [[IIIANIINENIRN <&
QAU [NV LNV SINTVTIDY QTR [T T BFFPULTE (NN o &

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

PH: 800-837-8707

—%‘—T‘?’ LA137 AIR BRAKE PUSH-LOCK FITTINGS TRAILER-SHOP ASSORTMENT

UNION 38 aTyYs
BFPULUB

U

b

MALE CONN 3/8 X 1/4 arys
BFPULCE4

QDT ey

o

MALE CONN 3/8 X 3/8 aty s
BFPULCER

([T

MALE CONNECTOR 3/8 X 1/2 aTY s

BFPULCSS
LI

MALE ELEQW 2/8 X 114 QTY 5
BFPULEG4

LR

|

MALE ELEQW 3/8 X 3/8 QTY 5
EFFPULEGS

LA

i

MALE ELBOW 3/8 X 1/2 QTY 5
BFPULEGS

[

UMNION TEE 3/8 QTY 5

BFPULTG

[

UNION 172 aTys
BFFULUS

(R AT

MALE CONN 1/2 X 1/4 aTtys
BFPULCE4

L0 A

MALE CONN 112 X 318 arv s
BFPULCE6

AT

MALE ELBOW 1/2 X 3/8 aTy s

MALE ELBOW 1/2 X 1/2 aTyY s

MALE CONN 112 X 12 aTmrs

BFPULCES

(T VT

UNION TEE 1/2 aTyYs

BFFULEBS BFFULEBE BFPULTB
LR [NANERR [T
Item reorder quantities shown. Initial item order quantities may vary.
% LA128 BRASS PIPE FITTINGS ASSORTMENT PH: 800-837-8707 _’%ﬁ
N 7
@D By
A | E
g m o == |
= \;'-« J Q‘ﬂ "I,r i

1/8 HEX PLUG 1/8 COUPLING 14 X 1/8 BUSHING 1/2 X 114 BUSHING 1/8 CLOSE NIFPLE 1/8 STREET ELBOW 507
BFFP2 QTY 5 BFPC2 QrYs BFFE42 QrYs EFFB24 QTY s EFFN2 QryYs EFPS82 Qrys

i I [N I T T

35 g ]
" 1 % | (e T
= e é‘f "L - |

1/4 HEX PLUG 1/4 COUPLING 38 X 178 HEX BUSHING 12 X 3B BUSHING 1/4 CLOSE NIPFLE 1/4 STREET ELBOW 50°
BFPPa QTys BFPC4 Qtys BFPB&2 QTys BFPBE6 Qrys BFPN4 Qrys BFPS34 Qry s

AR JLN TN (M Ay SN AT [NRINEE NIRRT

m Q’, &1 I AR
= —Shs bt e il

3B HEX PLUG 318 COUPLING 38 X 1/4 BUSHING 3id X 3/8 HEX BUSHING 3/8 CLOSE NIPPLE 3/8 STREET ELBOW 50°
BFPPE QTyY s BFPC& aTtys BFPB&4 aTtys BFPB126 aTY § BFPNE arys BFPS36 arys

M LR LR TTAY [T J LTI AT

“d n £3)
G {de

1/2 HEX PLUG 1/2 COUPLING 1/2 ¥ 1/8 HEX BUSHING pE D T .HEX BUSHING 1/2 CLOSE NIFPLE 1/2 STREET ELBOW 507
BFFPE QTY 5 EFPCE QTY s BFFBE2 QTY 5 EFFB128 QTy 5 EFFNE QrYs BFPSS2 QTY s

[ LN (s [ AL (TR

168

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707




PAN ASSORTMENTS

LA129

BRASS PIPE FITTINGS ASSORTMENT

PH: 800-837-8707

-
FEMALE ADAPTER 1/4 X 1/8 FEMALE ADAPTER 1/8 X 1/8 118 STREET ELBOW 45° 1/8 HEX NIPPLES 118 TEE
BFPA42  QTYS BFPA22  QTYS BFPSd2  QTYS BFPHNZ  QTYS BFFT2  QTYS
LAY LT TRy A0 QAT LR
FEMALE ADAPTER 3/8 X 1/4 FEMALE ADAPTER 1/4 X 1/d 114 STREET ELBOW 45¢ 114 HEX NIPPLES 114 TEE
BFPAB4  QTYS BFPA44  QTYS BFPS44  QTYS BFPHN4  QTYS BFPT4  QTYS
LAYy LAY LA QAN OATy ORI
W -_—
FEMALE ADAPTER 1/2 X 1/4 FEMALE ADAPTER 3/8 X 3/8 3/8 STREET ELBOW 45° /8 HEX NIPPLES 8 TEE
BFPAZ4  QTYS BFPAGS  QTYS BFPS4s  QTYS BFPHNG  QTYS BFFTE  QTYS
LAY AT AT T LRI
=
FEMALE ADAPTER 1/2 X 3/8 FEMALE ADAPTER 1/2 X 1/2 1/2 STREET ELBOW 45° 1/2 HEX NIPPLES 1/2 TEE
BFPABE  QTY S BFPASS  QTYS BFPS48  QTYS BFPHNE  QTYS BFFTS  QTYS
[T [Tmn (R A T LI

Item reorder quantities shown. Initial item order quantities may vary.

LA130 PIPE FITTINGS ASSORTMENT PH: 800-837-8707 ‘TE-T
L4
& = ]
1/3 PLUG 1/8 GOUPLING 1/4 X 1/3 BUSHING 1/8 CLOSE NIPPLE 1/8 STREET ELBOW 90°
PFP2 QrYys PFC2 QTY 5 PFB42 Qrrys PFCN2 QTYs PFS92 QrY s
AR TR [ JL AT NI QTR

114 PLUG /4 COUPLING 3/8 X 1/4 BUSHING 1/4 CLOSE NIPPLE 1/4 STREET ELBOW 90°
PFP4  QTYS PFC4  QTYs PFBE4  QTYS PFCN4  QTY5 PFS84  QTYS
I IR JUCAATANTIT JUACATATTATEOT JUCATAITRERITTY
E
‘m. m
3/8 PLUG 3/8 COUPLING 112 X 1/4 BUSHING 3/8 CLOSE NIPPLE 3/8 STREET ELBOW 90°
PFP6  QTYS PFC6  QTY5 PFBB4  QTYS PFCNE  QTY5 PFS8s  QTYS
I NIRRT AT UACACATACETTI AT
112 PLUG 1/2 COUPLING 1/2 X 3/8 BUSHING 1/2 CLOSE NIPPLE 172 STREET ELBOW 90°
PFP8  QTY5 PFC8  QTYS PFBBS  QTYS PFCN8  QTY5 PFS88  QTY 5
I NI [N LT LA

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707

169



PAN ASSORTMENTS

L4

LA131 BLACK PIPE FITTING ASSORTMENT

PH: 800-837-8707

!

B -

!

1/2 STREET ELEQW 45° 1/3 ELEOW 80° 114X 1/8 REDUCER COUPLING 118 CAP 118 TEE
PF542 aTy § PFESZ aTys PFR42 arys PFCP2 aTys PFT2 QTyY s

[T AT TR JUTRRTamY [ I
.

1/4 STREET ELEQW 45° 114 ELEOW 80° /8 X 1/4 REDUCER COUPLING 14 CAP 114 TEE
PF544 aTy § PFES4 aTys PFR&4 arys PFCP4 QTyYs PFT4 QTyY s

RV JUTRTNI JUTRRTRIY AN 0T

3/8 ELBOW 30°

< ol

38 STREET ELBOW 45° 112 X 1/4 REDUCER COUPLING 318 CAP 318 TEE
PF546 aTy § PFE9% aTys PFRE4 arys PFCPE QTYs PFT6 QTyY s
LRIV JUTRT JUTNIN AT I
1/2 STREET ELBOW 45° 112 ELEOW 80° 112X 3/8 REDUCER COUPLING 112 CAP 112 TEE
PFS48  QTY § PFESE  QTYS PFRE6  QTYS PFCPE  QTYS PFTE  QTYS
LT IF AT [IFATRRT AT I

Item reorder quantities shown. Initial item order quantities may vary.

T%? LA132 BLACKPIPE LONG NIPPLE ASSORTMENT

PH: 800-837-8707

k3

- —

UEx1 12 18 x2 18x3
PELNZ1Z  QTY10 PFLNZZ0  QTY10 PFLNZ30  QTY10
SR SRR AR

o r————— ——
14X 1172 14Xz 14K 3
PFLN412  QTYS PFLN420  QTYS PFLN430  QTYS
SR SRR AR
cnm— e
" ; " "
X112 X2 wsx 3
PFLNg12 aTys PFLN&20 arys PFLN&30 aTys
LTV BTl IR

L

U2 X112 12X2 U2%3
PFLN812  QTYS PFLN820  QTYS PFLNE3D  QTYS
S NPT JO AR I

170

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

==

g

LA156 RUBBER GROMMET ASSORTMENT PH: 800-837-8707

/8ID x 1/2G x 5/80D x 14T
GRODC5108  QTY S
TN T

1/2ID x 3/4G x 10D x SH6T
GRODC5158  QTY S
TR T

11D x 1-3/8G x 1-3/40D x 1/2T
GRODC&168 QTyY s

11D x 1-3/8/4G x 1-3/40D x 58T
GRODC5194 aTy s

=)

3/BID x 1/2G x 5/BOD x 14T
GRODC5112  QTY S
AT

SIBID x T/8G x 1-1/80D x 3/8T
GRODC5160  QTY 5
AT

1/BID x 1/4G x 11/320D x 16T
GRODC5102 arvs
T

3116ID x 518G x THBOD x 14T
GRODCS150  QTY S
T

7i8ID x 1-1/4G x 1-5/80D x 12T
GRODC5186 QTyY s

1/4ID x TMBG x 5/60D x 5/16T
GRODC5180 QTy s

o

341D x 1-1/16G x 1-3/80D x 9/16T
GRODC5182 QaTyY s

Item reorder quantities shown. Initial item order quantities may vary.

LA336 NYLON TUBE, HOSE CONNECTORS

S s = —— e
-/ e 4
NYLON Y CNTR 3/16 NYLON Y CNTR 1/4 NYLON ELBOW CNTR 3/16 NYLON CROSS CNTR 3/16 1/8 RUBBER CAP 5116 RUBBER CAP
A12927 QTY 10 A12943 QTY 10 A12932 Qry 10 A12839  QTY 10 A12209 QTY 10 25 A12907 QTy 25
LA AT g (U (LT LA LTy
NYLON Y CNTR TEE 3/16 | NYLON TEE 1/4x3/16x3/1§ NYLON Y CNTR TEE &/16 NYLON TEE 3/8 x 3/6 x 1/4 NYLON TEE 1/4 x 3116 x 1/4 3/8 RUBBER CAP
A12918 QTY 10 A12919  QTY 10 A12920 \QTY 10 A12821  QTY 10 A11738  QTY 10 A12210 QTY 25
{0 TS AR LT TRETOT TR 0 JURTRA I
P I
= =
— ——]
. e
)
NYLON CNTR 1/4 x 1/4 NYLON CNTR 5/16 x 5/16 NYLON CNTR TEE 1/8 NYLON TEE 1/8 NYLON TEE 3/18 x3/16 x1/8 1/4 RUBBER CAP
A12931  QTY 10 A12846  QTY 10 A12023  QTY 10 A12816  QTY 10 A12926 QTY 10 A4439  QTY 25
TR AL LT TRERTINT TR ETATTANG RN AT
=" Ca— = — e —
NYLON CNTR 1/8 x 1/8 NYLON CNTR 1/8 x 3/16 NYLON CNTR 1/8 x 1/4 NYLON CNTR 3/18 x 3/18 NYLON CNTR 3/16 x 1/4 3/16 RUBBER CAP
A12929 QTY 10 A12830 QTY 10 A12936 QTY 10 A12937  QTY 10 A12935 QTY 10 Ad4440  QTY 25
AW Ly LT L [ LT

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

171



PAN ASSORTMENTS

LA119

PAN HEAD METAL SCREW ASSORTMENT

SLPAN SMS 6 X1 %
SMSS5LO0612  QTY 100

RETEE SO IOEY S0

SL PAN SMS 8 X 11/2
SMSSL0812  QTY 100

[N TRy B

e

SL PAN SMS 10X 11/2
SMSSL1012  QTY 50

L RIRTTe

R

SLPAN SMS12X11/2
SM3SSL1212  QTY 50

IR

SL PAM SMS 14X 1142

BM3SL1412  QTY 50

LT Y

HEX HEAD SMS 14 X 34
SMSHH1403  QTY 50

(IR

it st

SLPANSMSEX1
SMSSL0610 aTy 100

AECTTE AR I

it

SLPANSMS 2X1
SMSSL0810 QTY 100

[

S

SLPANSMS 10X 1
SMSSL1010  QTY 100

LT

]

SLPANSMS 12X1
SMSSL1210 aTy 100

ORE ST R

—

SLPANSMS 14X 1

SMSSL1410 QTY 100

IRV

)

HEX HEAD SMS 14 X 1
SMSHH1410 QTY 100

(IS R

P

5L PAN SMS 6 X 314
SMSSLO0s03  QTY 100

[T

s

SLPAN SMS & X 3/4
SMSSLO0B03  OQTY 100

]

SL PAN SMS 10 X 374
SMSSL1003  QTY 100

AT

)

SLPAN SMS5 12 X 34
SMSSL1202  QTY 100

-

SL PAN SMS 14 X 3/4

SMSSL1402  QTY 100

IR I

=)

HEX HEAD SMS 518 X 3/4
SMSHH1503  QTY 50

IR

]

SL PAN SMS 8 X 1/2
SMSSL0E02 aTyY 100

e}

5L PAN SMS B X 112
SMSSLO0B02Z  QTY 100

-

SL PAN SMS 10 X 172
SMESL1002 QTY 100

-

SL PAN SMS 12X 112
SMSSL1202 aTy 100

[

)

SL PAN SMS 14 X 172

EMSSL1402  QTY 100

IR LR

hS |

HEX HEAD SN% 516 X 1
SMSHH1510 QTY 50

LT

Item reorder quantities shown. Initial item order quantities may vary.

% LA120 PHILLIPS PAN HEAD METAL SCREW ASSORTMENT %’

PHPANSMS6X 11/2
SMSPHOG12 QTY 100

===

PHPANSMS 6 X 1
SMSPHOE10  QTY 100

e |

PHPANSMS 8 X 1172
SMSPHOB1Z  QTY 100

LV TN

e ]

PH PAN SMS 8 X 1
SMSPHO810 QTY 100

el

PHPANSMS 10X 1 1/2
SMSPH1012Z  QTY 100

ez

PH PAN SMS 10X 1
SMSPH1010  QTY 100

csmm——""f)

PHPAN SMS 12X 1 1/2
SMSPH1212  QTY 100

(U S

> ]

PHPAN SMS 12 X1
SMSPH1210 aTy 100

===

PHPAN SM3 14X 11/2
SMSPH1412 aTY 100

(IR TR

=

PH PAN SM3 14 X 1
SMSPH1410 aTyY 100

=)

HEX HEAD SMS 14 X 3/4
SMSHH1403 QaTy 100

LT AT

=)

HEX HEAD SM5 14 X 1
SMSHH1410  QTY 100

T TR [ I U S0 AT LRI
PH PAN SMS 6 X 314 PH PAN SMS 8 X 314 PH PAN SMS 10 X 3/4 PH PAN SMS 12 X 3/4 PH PAN SMS 14 X 3/4 HEX HEAD SMS 5/16 X 314

SMSPHOE03  QTY 100

et

PH PAN SMS 6 X 112
SMSPHOS0Z  QTY 100
ST TR TTET

SMSPHO803  QTY 100

N AT

==

PH PAN SMS B X 112
SMSPHOS0Z  QTY 100
[N

SMSPH1003  QTY 100

NN

-l

PH PAN SMS 10 X 112
SMSPH1002  QTY 100
TR

SMEPH1203  QTY 100

AT ATTIR

=P

PH PAN SMS 12 X 1i2
SMSPH1202  QTY 100
R TY

SMSFH1403  QTY 100

PH PAN SMS 14 X 112
SMSPH1402  QTY 100
IR

EM3HH1503 QTY 50

l

HEX HEAD SMS 516 X 1
SMSHH1510  OTY 50
[N R A TR T

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

L2 W
o o o o o (o]
8-32 HEX NUT 8-32 HEX NUT 10-24 HEX NUT 12-24 HEX NUT 10-32 HEX NUT #6 FLATWASHER
HNMD1 QTyY 200 HNMO2 QTyY 200 HNMO4  QTY 200 HNMO5  QTY 100 HNMO3  QTY 100 WwWwmo1 QrTy 100
I LI TN I QTN I
Y
=@ g # g = L@
SL RHMS 6-32 X 1 SLRHMS 8-32 X 1 SLRHMS 10-24 X 1 SL RHMS 12-24 X 1 SLRHMS 10-32 X 1 #8 FLATWASHER
MS063210  QTY 100 MS083210 QTy 100 MS102410 QTy 100 MS122410 QTY 100 MS103210 QTY 100 WWMoz QTy 100
TS [T [T TTAITALIIS [T [T I
JR— Ty ) q ) Vo)
SL RHMS 6-32 X 3/4 SL RHMS B-32 X 3/4 SL RHMS 10-24 X 3/4 SL RHMS 12-24 X 3/4 SL RHMS 10-32 X 3/4 #10 FLATWASHER
MS063203 QTY 100 MS083203 QTy 100 MS102403 QTY 100 MS122403 QTy 100 MS103203 QTy 100 Wwwmoz QTy 100
[T [NITITNTI [T [ [T QIO
— s f— =9 Zemy, O
>,
SL RHMS 6-32 X 1/2 SL RHMS 8-32 X 1/2 SL RHMS 10-24 X 1/2 SL RHMS 12-24 X 1/2 SL RHMS 10-32 X 1/2 #12 FLATWASHER
MS063202 QTY 100 MS083202 QTy 100 MS102402 QTY 100 MS122402 QTy 100 MS103202 QTY 100 WwWMos QTy 100
LTI [T TN [ [T QT

ltem reorder quantities shown. Initial item order quantities may vary.

N T ' N T
hv <
PHIL TEK 8 X 314 PHIL TEK 14 X 314 HEX TEK 10 X 3/4 HEX TEK 12 X 1 HEX TEK 14 X 1112
SMSTKPOBO3  QTY 100 SMSTKP1403  QTY 100 SMSTKH1003  QTY 100 SMSTKH1210  QTY 100 SMSTKH1412  QTY 100
QT TS UL TN TR QTR QTN AR L T T
PHIL TEK 8 X 1 PHIL TEK 14X 1 HEX TEK 10 X 1 HEX TEK 12X 1 112 HEX TEK 14X 2
SMSTKPOBIO  QTY 100 SMSTKP1410  QTY 100 SMSTKH1010  QTY 160 SMSTKH1212  QTY 100 SMSTKH1420  QTY 100
L ETATA AT IR QAT TR AR SR S
PHIL TEK 10 X 314 HEX TEK 8 X 314 HEX TEK 10 X 1 1/2 HEX TEK 14 X 314
SMSTKP1003  QTY 100 SMSTKHD803  QTY 100 SMSTKH1012  QTY 100 SMSTKH1403  QTY 100
QTR U AT AT QAT TRV
PHIL TEK 10 X1 HEX TEK 8 X 1 HEX TEK 12 X 314 HEX TEK 14 X 1
SMSTKP1010  QTY 100 SMSTKHO810  QTY 100 SMSTKH1203  QTY 100 SMSTKH1410  QTY 100
LTy T A LTI TR

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

% LA158 PHILLIPS PAN HEAD MACHINE SCREW ASSORTMENT  PH: 800-837-8707

-

PHPHMS 6-32 X 1

PHPHMS 8-32 X 1

PHPHMS 10-24 X 1

PHPHMS 12-24 X 1

PHPHMS 10-22 X 1

¥ v
o . ol ‘o] o O
6-32Z HEX NUT B-312 HEX NUT 10-24 HEX NUT 12-24 HEX NUT 10-32 HEX NUT #8 FLATWASHER
HNMO1 QTY 200 HNMOZ QTY 200 HNMO4 QTY 200 HNMOS QTY 100 HNMO3 QTY 200 WMot QTY 500
NDETIE AT OB LT N I0E R LR
- -
% — e R el (o]
3 : 2 3

#3 FLATWASHER

PH PHMS 8-32 X 3/d

PHPHMS 8-32 X 1/d

PHPHMS 10-24 X 3id

PH PHMS 12-24 X 3/d

PHPHMS 10-32 X 3id

MSPHOS3210  QTY 100 MSPHO83210  QTY 100 MSPH102410  QTY 100 MSPH122410  QTY 100 MSPH103210  QTY 100 WWMoz  QTY 500
[TV BTG [T AR N LT UL T [ TATRT
B - 4 P pre—
= =1 = m"]_ —

o

#10 FLATWASHER

MSPHOS3203 QTY 100 MSPHO23203 QTY 100 MSPH102403 QTY 100 MSPH122403 QTY 100 MSPH103203 QTY 100 WMoz QTY 250
AR I IR I I [
= E— P = 0
PHPHMS §-32 X 1/2 PHPHMS 8-32 X 1/2 PHPHMS 10-24 X 1i2 PH PHMS 12-24 X 172 PHPHMS 1032 X 1/2 #12 FLATWASHER
MSPHO83202 QTY 100 M3PHO83202 QTY 100 MSPH102402 QTY 100 MSPH122402 ary 100 MSPH103202 aTY 100 WWM0S  QTY 250
A YT TP T AT TSR AT T RN [N 00N Y ERV RO T BT

Item reorder quantities shown. Initial item order quantities may vary.

LA158C PHILLIPS PAN HEAD MACHINE SCREW ASSORTMENTPH: 800-837-

]

NYLOCK NUT 6-32
Jags  QTY 100

®

NYLOCK NUT 8-32
Jags  QTY 100

e

NYLOCK NUT 10-24
JEET  QTY 100

NYLOCK NUT 12-24
JEE4 QTY 100

NYLOCK NUT 10-32

#6 FLATWASHER

PH PHMS 8-22X 1/2
MEPHDS3202 QT 100

PHPHMS 8-22X 172
MEPHO83202 QTy 100

PH PHMS 10-24 X 1/2
MSPH102402  QTY 100

PH PHMS 12-24 X 172
MSPH122402  QTY 100

FH PHMS 10-22 X 1/2
MEPH103202 QTY 100

JBEE  QTY 100 WwmMo1 QTY 500
M LTI N IR M W
- Lo -
» JEE— J— —ly === (o)
3 ) 2 g
PHPHMS 6-32 X 1 PHPHM3B-32 X 1 PHPHMS 10-24 X 1 PH PHMS 12-24 X 1 PHPHMS 10-32 X 1 #3 FLATWASHER
MSPHOS3210 QTY 100 MSPHO83210 QTY 100 MSPH102410 aTy 100 MSPH122410 aQTyY 100 MSPH103210 QTY 100 WwWNoz QTY 500
R I I TR I O I
- - -
m— ) ——) -8 ] 0
PH PHMS 8-32 X 314 PHPHMS B-32 X 3/4 PH PHMS 10-24 X 34 PH PHMS 12-24 X 34 PH PHMS 10-32 X 34 #10 FLATWASHER
MSPHOE3203 QTy 100 MSPHO83203 QTy 100 MSPH102403 QTY 100 MSPH122403 aTy 100 MSPH103203 QTy 100 WWM03 QTY 250
TG AR LT AR TR R THRIAY [T TG R TR JLATA TS
- - - - -
= =" s e =" 0

#12 FLATWASHER
WWMOS  QTY 250

To Order Cal

708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA158SS PHILLIPS PAN HEAD STAINLESS MACHINE SCREWS PH: 800-837-8707

-
v
o o o)

6-32 HEX NUT B8-32 HEX NUT 10-24 HEX NUT 12-24 HEX NUT 10-32 HEX NUT #5 FLATWASHER
SSHNMO1 QTY 200 SSHNMO2 QTyY 200 SSHNMO4 QTY 200 SSHNMOS QTy 100 SSHNMO3  QTY 200 SSWWMO1 QTY 500
TRy [N T [Ty A RNV TR MR

e ——— v " ‘3
_— — SN 2] =" (o)
:, )
PHPHMS 6-32 X 1 PHPHMS 8-32 X 1 PHPHMS 10-24 X 1 PHPHMS 1224 X 1 PH PHMS 10-32 X 1 #8 FLATWASHER
QTY 100 SSMSPH102410 QTY 100 SSMSPH122410 QTY 100 SSMSPH103210 QTY 100 SSWWMo2 QTY 500

SSMSPH083210  QTY 100

$SMSPH083210

|

PH PHWS 6-32 X 3/4
SSMSPH063203  QTY 100

el

PHPHMS 8-32 X 3/4
SSMSPH083203 QTY 100

Ty

PH PHMS 10-24 X 3/4
SSMSPH102403  QTY 100

-]

PH PHMS 12-24 X 3/4
SSMSPH122403  QTY 100

O]

PH PHMS 10-32 X 3/4
SSMSPH103203  QTY 100

o

#10 FLATWASHER
SSWWM03  QTY 250

S

PH PHMS §-32 X 1/2
SSMSPH063202  QTY 100

===

PHPHMS 8-32 X 1/2
8SMSPH083202 QTY 100

p
==

PH PHMS 10-24 X 1/2
§8MSPH102402  QTY 100

-
-nu‘!,
= 4

PH PHMS 12-24 X 1/2
8SMSPH122402  QTY 100

PH PHMS 10-32 X 1/2
SSMSPH103202  QTY 100

o

#12 FLATWASHER
SSWWMO5  QTY 250

Item reorder quantities shown. Initial item order quantities may vary.

LA327 #6 -#10 SS MACHINE SCREW ASSORTMENT 800-837-8707

8-32 MACHINE SCREW NUT

#5 LOCK WASHER

# 10 FLAT WASHER

8-32X1/2 PH PAN MS

] s
-] ] h -
£-32 MACHINE SCREW NUT #6 LOCK WASHER #8 FLAT WASHER 5-32X1 PH PAN M$ 10-24X1/2 PH PAN MS 10-32X3/4 PH PAN MS
SSHNMO1 QTY 100 SSWWLMO1  QTY 100 SSWWMO2 QTY 100 SSMSPHO83210 QTY 100 SSMSPH102402 QTY 100 SSMSPH103203 QTY 100
[T Ty QLT JIUNIEE 0 A TN AT T

e Y

- !?J [ L =] =0

pate b

10-24X3/4 PH PAN MS

10-32X1 PH PAN M$

10-32 MACHINE SCREW NUT

S8HNMO3 QaTy 50

2

#10 LOCK WASHER

SSWWLMO2

QTY 100

6-32X1/2 PH PAN MS

8SMSPHOE3202  QTY 100

B8-32X3/4 PH PAN M3

SSMSPHOE2202  QTY 100

-

§8HNMO2 QTY 100 SSWWLMOZ QTY 100 §8WWMO3 QTY 100 SEMSPHOB2202  QTY 100 §8MSPH102403 QTY 100 88MSPH103210 QTY 100
QTR TR A JUTTTITATOTIoTY NI 00 N T e TR AR
= 3
& 3

10-24X1 PH PAN MS

88MSPH102410 QTY 100

A
10-32X1/2 PH PAN MS

10-24 MAGHINE SCREW NUT #8 FLAT WASHER B-32X5/4 PH PAN M§ £-32X1 PH PAN M$
SSHNMO4  QTY 25 SSWWMO1 QTY 100 SSMSPH063203  QTY 100 SSMSPHOR3210  QTY 100 SSMSPH103202  QTY 100
I JULCATETTATIRTY AT O T ey

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

l% LA160 METRIC 8.8 COARSE THREAD HEX CAP SCREW ASSORTMENT %

< <
HEX NUT G (1.0 FLAT WASHER -LOCK WASHER HEX CAP SCREW BX12 HEX CAP SCREW G X 25 HEX CAP SCREW ©X 30 HEX CAP SCREW £ X 40
QY40 Gl QYW
MMHNCOS Ty 25 MNVANOS MMLWOE MMHCCOE12 QTY 25 MMHCCO625 QTY 25 MMHCCOS30 QTY25 | MMHCCOS40 ary 25
[T LT TR TR TR R R AR A T I
HEX NUT & {1.25) FLAT WASHER - LOCK WASHER HEX CAP SCREW BX18 HEX CAP S3CREW B X 25 HEX CAP SCREWE X 10 HEX CAP SCREW B X 50
aTY s BM aTy 100
MKMHNCOE aTY 25 MMWOE MMHCCO816 OTY 25 MMHC 0823 aTY 25 MMHCCOB40 Q7Y 23 MMHCCOBS0 OTY 25
AT A R WU O A AT
HFX NUT 10 {1 50} FIATWASHFR - | DCK WASHFR HFX CAP SCRPW 10X 25 HFX CAR SCREW 10X 40 HFX CAP SCREW 10X 50 HFZ CAP SCREW 10X &0
aTY 50 10nM QaTy 100
MIMHNC 10 aTY 28 WMERAID MMLW10 MMHCC1025 OTY 28 MMHCC1040 QTY 28 MMHCC1050 QTY 25 MMHCC 1060 QaTyY 25
A ORIV R IR R T N OGO i LR [TRR

T

O O O b=

HFX NUT 12 (1 75) FI AT WASHFR - | DGK WASHFR HFX CAP SCRFW 12 % 20 HF¥ CAP SCRFW 17 X 40 HFX GAP SGRFW 12 X50 | HFX GAP SCREW 12 X75
10Ty 50 1ZMM QTY 100
MMHNG12 otvzs | MMz MMLW12 MMHCCIZ30  OTY 25 MMHCC1240  OTY 25 MMHCCI250  QTY25 | MMHGC ary 25
LT LTI AT LT I OB SR UL T T

Item reorder quantities shown. Initial item order quantities may vary.

v v
& 0 Q = ii -m.mﬂi' ﬂ ‘mm,w'ﬂl
HEXMNUT G (1.0) FLAT WASHER -LOCK WASHER HEX CAP SCREW G X 12 HEX CAP SCREW G X 25 HEX CAP SCREW & X 30 HEX CAP SCREW & X 40
IR MM iy
SEMMHNCIG QTY 25 | SSMMWWOS SEMMLWIG SSMMHCCOG12 aryas SEMMHCCGES aQtyas SEMMHCCO630 QTY 25 | SSMMHCCOG40 QrYy 25
IR | I (I L R R T L TR AR
@ 0 O Mm"ﬂi P nmwmumui:i' ﬂ(innmrv'rﬂﬁ A i
HEXNUT8 [1.25) FLAT WASHER - LOCK WASHER HEX CAP 3CREW B X 16 HEX CAP 3CREW B8X 25 HEX CAP 3CREW 8 X 10 HEX CAP SCREW B X 50
orY 50 MM OTY 100
SEMMHNCOD aTY 25 SSMMWWOE SEMMLVWOE SEMMHCCOD1S aTYa2s SEMMHCCODZS QTY 23 SEMMHCCO840 QTY 25 | SSMMHCC0DS0 QTr as
LN L LR I AT AR 0 AT
@ 0 Q i setigviviio AT i
ﬂ ﬂ ] 4 ]
HFEX NUT 10 (1 50} FI AT WASHFR - | OCK WASHFR HFX CAP SCRPW 10X 25 HFX CAP SCRPW 10 X 40 HFX CAP SCRPW 10 X 50 HFX CAP SCRPW 10 X &0
aTY 5 10MM oty 1
SSMMHNC 10 QTY 25 SIMMAWI0 SEMMLWI0 SSMMHCC 1025 QrYas SSMMHCC1010 QTY2s SSMMHCC 1050 QTY 25 | SSMMHC 1060 QTY 25

(AW LR I [ (VIR LR

LT [

® (0 O = | ==

|

HFX NUT 12 (1 75) FI AT WASHFR - | OCK WASHFR HFX CAP SCRFW 15X 30 HFX CAP SCRFW 17 X 40 HFX CAF SCRFW 12 X 50 | HFX CAP SCREW 17 X75
1aTY 50 TZMM QTY 100
SSMMHNC1Z  OTYZ25 | SSMMAWI2 ssMmLw12 | SSMMHCO1230  QTY25 SSMMHCO1210 QTY25 | SSMMHCCIZE0 QT 25 | SSMMHCC1275  QTY 25
LT (LERITER RN L BRI R [T O AR R (DDA TR [T O A

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707




PAN ASSORTMENTS

LA161 METRIC 8.8 FINE THREAD HEX CAP SCREW ASSORTMENT

HEXNUT 8 (1.0)

MMHNFOS QTY2s

O o

FLAT WASHER - LOCK WASHER

QTy 50 anM aTy 100
MMWWWOB MMLWOS
QLT TR VR St T NEITHNICA

HEX CAP SCREW 5 X 16

MMHCF0816 QaTy 25

HEX CAP SCREW B5X25

MMHCFOB25 aTy s

B
HEX CAP SCREW 8X 40

MMHCFO840 aTY 25

HEX CAP SCREW & X 50

MMHCFO350 aTy 25

HEX NUT 10 {1.25)

O o

FLAT WASHER - LOCK WASHER

e

HEX CAP SCREW 10X 25

T

HEX CAP SCREW 10 X 40

HEX CAP SCREW 10 X 50

B i

HEX CAP SCREW 10 X &0

O

HEX NUT 12 {1 5)

MMHNF12 QTY 25

O o

FLAT WASHER - LOCK WASHER

QTY 50 120 QTY 100
MMAYT2 MMLIN12
U A CTETA AT

L
HEX CAP SCREW 12 X 30

MMHCF1230 QaTy 25

.

HEX CAP SCREW 12 X 40

MMHCF 1240 QTY 25

QTY 50 10MIM QTY 100
MMHNF1O  QTY 25 MUMVI10 MMLW/10 MMHCF1025 QY25 MMHCF1040  QTY 25 MMHCF10S0  QTY25 | MMHCFios0  QTY2s
AT A AT T AT NIRRT R LAV AT QNN NN

I
HEX CAP SCREW 12 X 50

MMHCF1250

QTy 25

HEX CAP SCREW 12 X70

MMHCF1270

aTy2s

O

HEX NUT 14 (1.5}

MMHNF14  QTY25
QAT

FLAT WASHER - LOCK WASHER
QTY 50 T4MM QTY 100

MMAA4 WMLV 4
(RN Rn

HEX CAP SCREW 14 X 30

MMHGF 1430 QTyY 25

T

HEX CAP SCREW 14 X 40

MMHCF1440  QTY 25
IR RO

§
I.
HEX CAP SCREW 14 X 60

MMHCF 1460

|
HEX CAP SCREW 14 X 70

MMHGCF 1470 QTyY 25

Item reorder quantities shown. Initial item order quantities may vary.

LA163 METRIC 10.9 FINE THREAD HEX CAP SCREW ASSORTMENT

HEXNUT 8 {1.0)

MM1CHNFOS QTY 25

FLAT WASHER -LOCK WASHER
[

QaTy 50 ary 100
MM OWAND MMLWOS

‘=

HEX CAP SCREW 8 X 16

MM1OHCFOB18 QTY 25

T

HEX CAP SCREW B X 23

MM10HCF0825 QTY 25

HEX CAP SCREW 8 X 40

MM10HCFo840 QTY 25

HEX CAP SCREW & X 50

MM10HGFO850 QTy 25

O

HEX NUT 10 (1.50)

MM10HNF10 aTy 25

FLAT WASHER - LOCK WASHER

aTy 50 BMM aTy 100
MRTOWWEE MMLWOE

1

HEX CAFP SCREW 10X 25

MM10HCF1025 QTyY 25

HEX CAP SCREW 10X 40

MM10HCF1040 QTY 25

R e

HEX CAP SCREW 10 X 50

MM10HCF1050 QTY 25

“pmmmmm—

HEX CAP SCREW 10X 60

MR1OHCF 1060 arty 2s

9

HEX NUT 12 {1.50)

MMT0HNF12 QTY 2%

FLAT WASHER - LOCK WASHER
QTyY 50 A10MM QTy 100

MOV 10 MMLW1D

1

HEX CAP SCREW 12 X 30

MM1OHCF1230 QTY 25

R

HEX CAP SCREW 12 X 40

MM10HCF1240 QTy 28

e

HEX CAP SCREW 12 X 50

MM10HCF1250 QrY 2%

“Rmmmmen)

HEX CAP SCREW 12 X 75

MM1OHCF1270 Qry2s

HEX NUT 14 {1.50)

MMIOHNF14  QTY 25
o

FLAT WASHER - LOCK WASHER
QTy 50 12MM QTY 100

MM10WW12 WMLVY12
RO TGN (T

1

HEX CAP SCREW 14 X 30

MM1OHCF1430  QTY 25
IR A

HEX CAP SCREW 14 X 40

MMIOHCF1440  QTY25
L

HEX CAP SCREW 14 X 50

MMIOHCF1450  QTY 25
L

g od

HEX CAP SCREW 14 X 75

MMIOHCF1470  QTY 25
[T

708-447-4500 or Outside

nois 800-837-8707

177



PAN ASSORTMENTS

h% LA164 METRIC 10.9 COARSE THREAD HEX CAP SCREW ASSORTMENT

O (O o = | B | e | B

HEX NUTE {1.0) FLAT WASHER -LOCK WASHER HEX CAP SCREW GX12 HEX CAP SCREW G X235 HEX CAP SCREW & X 30 HEX CAP SCREW © X 40
Qysn GMM QY10
MWMAOHNCOE aTyzs MGG MMLWDS MMIOHCCOS12 QTY 25 MM OHCCOEES QTY 25 MM10HCCOS30 QTY 25 | MMAOHCCOS40 QTY 25
RN NI TR T TR [IER R A RTITRTTI [HEM
o o 0 I‘I II ll. III
HEX NUT 8 (1.25) FLAT WASHER - LOCK WASHER HEX CAP SCREW BX16 HEX CAP SCREW BX25 HEX CAP SCREW 3 X 40 HEX CAP SCREW B X 50
oTY 50 0 oTY 100
MM10HNCI3 QTY 25 MM DWWDE MMLWDD MM1OHCCO315 QT 25 MM10HCC0DZ5 aTYas MM10HCCOB40 OTY 25 | MM10HCCOBSD UT\" 25
| AMCUMOREDWENED ) AETRVAROAE DR | QAN RN A1 T
o o 0 |
HFEXNUT 10 (150} FI AT WASHFR - | QCK WASHFR HFX CAP SCRPW 10X 25 HFX CAP SCRPW 10X 40 HFX CAP SCRFW 10X 50 HFX CAP SCRPW 10 X &0
oTY 50 10MM aTy 100
MBA10HNC 1D Qry 25 MMLW10 MM1OHCC1025 QY 25 MM10HCC1040 QTYas MM10HCC 1080 OTY 25 | MM10HCC10E0 QTY 25
LT (T [T LN TR R IAT [
Q o 0 L | E E
P h .h .h
HFX NUT 12 (1 75) FI AT WASHFR - | OCK WASHFR HFX CAP SCRPW 17 X 30 HFX GAP SCRFW 17 X 40 HFX CAP SCREW 12 X50 | HFX CAP SCREW 17 X 75
oTY 50 12ZMM QT 1
MB10HNC 12 QTY 25 MR OV 2 MRALWAZ MM1OHCC1230 QTY 25 MM1OHCC1240 QTY2s MM10HCC 1260 OTY 25 | MM10HCCA275 QTY 25
IR (AETRIVARURA WA A LN TR LR LN TR TR [ O A

Item reorder quantities shown. Initial item order quantities may vary.

l% LA160F METRIC 8.8 COARSE THREAD FLANGE BOLTS ZINC %

v v
@ & e D e R £
HEX NUT MaX1.00 ZINC TLANGE NUT &MM (1.0 G.6MG 1.0 X 12 ZINC B8 ME 10X 25 ZINC 5.8 MG 1.0 X350 ZING £.8 M 1.0 X 40 ZING
MM INCOGL QY 2n MMIINCEDS QIYs MBI IFLOETZ iy s TMI IFLOB2S QIy s MM IFLOE30 QIYas MMIFLOS20D ary s
A TS VR w1V 1T 1T VT ey VTNV
® - == § s B 3
L | e ¥ ¥ .-
HEXNUT M8 X 1.25 ZINC | TLANGE NUT 8MM (1.25) G.8 M X 1.25 X A5 ZING B5M8X125X25ZINC 8.6 MEX 125X 40 ZING 8.8 M8 X 1.25 X 50 ZING
MMHMCO8Z aTY 25 MMHNCFOE QTyY 25 MMHFLOB1E QOTY 25 MMHFLOBZ5 aTY 25 MMHFLOZ4D QTY 25 MMHFLOBS0 QaTy 25
TR VSTV w1 T 1 1Tty TN T
o N/ G ped ) oo 0 poe 0 g
{ L - ¥ L i ¥ h iy
HFX NUT M10 X 1 530 ZING | FI ANGF NUT 100K (1 50) S8MIDX 15X 25 7ING BBMINX 15 XANZING SAMIDX 15X G07ING SRMI0 X 15 XE07INC
MMHNC10Z QTY 25 | MMHNCFI0 QTY 25 MMHFL1025 OTY 25 MMHFL10410 QTY 25 MMHFL1050 QTy 25 MMHFL1060 QTyY2s
IR (RN LT AR (NIRRT (T EA R
- - ¥
o ~» o oz B | B
HFX NUT M12 X 1 TS ZING | FI ANGF NUT 1208 (1 75) BAMIZ X1 TEX 20 7INC BEMI? X175 X 40 7INC BBMI2 X175 XEDZING BEMIZ X1 TRXTO7ING
RIMEINGT 22 QIY 25| MMINCGHZ Qiyzs MMIIFL1230 Q1Y 2 MMITFL 1240 QY 2y MM IFL1250 Q1Y 2s MMIIFLAZ/0 QY 25
NN RTRTIA [INE R L VAT TR (R R AT LA T

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA189 1/4” -1/2” GRADE 8 ASSORTMENT

1-800-837-8707

o

/4" HEX NUT

HNUBD4 QTY 50

(=]

1i4" LOCK WASHER

WWL804  QTY 50

/4" FLAT WASHER

Wwwueod  QTy 50

14-20 X 24
HEX CAP SCREW

GEUD403 QTY 25

5ME-18X 1
HEX CAP SCREW

GEUO510 QaTy 25

3B-18 X 1-112
HEX CAP SCREW

GEUDS12 QTY 25

o

=

o

=

5M&" HEX NUT 5M&" LOCK WASHER 15M6" FLAT WASHER 1/420X 1 BMB-18X 1-1/2 1243 X 1
HEX CAP SCREW HEX CAP SCREW HEX CAP SCREW
HNUBDS QTY 50 WWLB0S QTY 50 WWUBDS QTy 50 GEU0410 QTY 25 GEU0512 QTy 25 GEU0810 aTy 10
(MR [N QAR EEATATTEATATY QMR QRN QTR AT
e o == == =
3/8" HEX NUT 3/8" LOCK WASHER /8" FLAT WASHER 11420 X 1-1/2 31816 X 3/4 1213 X 1172
HEX CAP SCREW HEX CAP SCREW HEX CAP SCREW
HNUB0& QTyY 50 WWLB0G QTY 50 WWUB0E QTY 50 GEU0412 QTY 25 GEUOS03 QTY 25 GEUDB12 QTY 10
LA TR ARy TR IR TR
P "
e Q e o = e
112" HEX NUT 12" LOCK WASHER 1/2" FLAT WASHER SM16-18X 3/4 816X 1 12-13X 2
HEX CAP SCREW HEX CAP SCREW HEX CAP SCREW
HNUS08 QTY 25 WwWL8og QTY 50 WWuUB0e QTyY 25 GEU0502 QTy 25 GEUQE10 QTY 25 GEUO820 QTY 10
(AR [Rn QAT EATTTATATY TR QRN TR AT

Item reorder quantities shown. Initial item order quantities may vary.

==

LA183 1/4” -1/2” STAINLESS STEEL ASSORTMENT

filed
1/4" 88 HEX NUT

S5HNUD2 OTY 50

[ =]

1/4" 88 LOCK WASHER

SSWWL04  QTY 50

=

/4" 88 FLAT WASHER

SSWwWUo4  QTY 50

1/4-20 X 34
88 HEX CAP SCREW

SSHHUD403 aryz2s

o

516-18% 1
$5 HEX CAP SCREW

§SHHUD510 QTy 25

3816 X 1-112
55 HEX CAP SCREW

SSHHUDE1Z QTyY 25

518" §8 HEX NUT

SSHNUDS QTy 50

tfre

518" 88 LOCK WASHER

SEWWLDS ATy 50

==

15/16" §8 FLAT WASHER

SSWWU0s  aTy 50

e=x{

a20% 1
88 HEX CAP SCREW

SSHHUD410 Qry2s

= {

51818 X 1142
S5 HEX CAP SCREW

8§SHHUD512 QTy 23

==

213X 1
S8 HEX CAP SCREW

SSHHUDB10 QaTty 10

e
3/8" 85 HEX NUT

SSHNUDE QaTy 50

3/8" 58 LOCK WASHER

SSWWLDS  QTY 50

3/8" 88 FLAT WASHER

ssWwuos  QTy 50

—

1/4-20 X 1-1/2
88 HEX CAP SCREW

SEHHUD412 QaTty2s

=

3/8-16 X 3/4
S8 HEX CAP SCREW

88HHUODB03 QTyY 28

W23 X 1142
S8 HEX CAP SCREW

S8HHUDE1Z QTy 10

S
1027 S HEX NUT

SSHNUDE  QTY25
AT

1/2" 58 LOCK WASHER

SSWWLOR  QTY 50
JLLTTITRTT

172" 88 FLAT WASHER

SSWWU0B  QTY25
JUL AT T

==

5MB-18 X 3/
53 HEX CAP SCREW

S8HHUDE03 QTyY 25

=

2/8-18 X 1
S5 HEX CAP SCREW

SSHHUDBID  QTY 25
NN TR

12-13X 2
55 HEX CAP SCREW

SSHHUDB20  QTY 10
NN TR

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA172 STOVER LOCKNUTS

800-837-8707

114 -20 STOVER LOCK NUT Z
HNUSTO4  QTY 100
TN

F

518 -18 STOVER LOCK NUT 2
HNUST0E  QTY 100
VT

b

&

3/8 -16 STOVER LOCK NUT Z
HNUSTOS  QTY 100
IREINAnm

56

e

7118 -14 STOVER LOCK NUT 2
HNUSTOT  QTY 100
LTI

5

1/2 -13 STOVER LOCK NUT 2
HNUSTO8  QTY 50
LR UTITTTE

818 -12 STOVER LOCK NUT 2
HNUSTOS QTY 25
VT

8 -11 STOVER LOCK NUT Z
HNUST10 QTY 25
T TR

344 -10 STOVER LOCK NUTZ
HNUST1Z QTY25
VT

263

114 -28 STOVER LOCK NUT Z
HNSSTO4  QTY 100
[T

&3

5/16-24 STOVER LOCK NUT 2
HNSSTOSQTY 100

LI

23

3/8-24 STOVER LOCK NUT Z
HNSSTOE  QTY 100

Ti16-20 STOVER LOCK NUT Z
HNSSTOT  QTY 100

LTI

1/2-20 STOVER LOCK NUT Z
HMSST0E  QTY 50

(MR

&3

215-18 STOVER LOCK NUT Z
HNSST0®  QTY 25

Ty

&3

5/8-18 STOVER LOCK NUTZ
HMSST10 QTY 25

TR

314-16 STOVER LOCK NUT Z
HNSST12 QTY 25

T

Item reorder quantities shown. Initial item order quantities may vary.

LA149

EXTRUDED U NUTS

1-800-837-8707

&

DS2969PK  QTY 25
BLACK PHOS. SHORT EXTRUDED U NUTS 1/4-20 PANEL

LT ENTENATAN

&

DS1835PK  QTY 25
BLACK PHOS. SHORT EXTRUDED U NUTS 5/16-18 PANEL

TN

&

DS5412PK  QTY 25
BLACK PHOS. SHORT EXTRUDED U NUTS 3/8-18 PANEL

Q

DS5480PK  QTY 25
BLACK PHOS. LONG EXTRUDED U NUTS 1/4-20 PANEL R

LTV

D31836PK  QTY 25
BLACK PHOS. LONG EXTRUDED U NUTS 5/16-18 PANEL

UV ATRTAN

<&

DS5466PK  QTY 25
BLACK PHOS. LONG EXTRUDED U NUTS 3/8-16 PANEL R

LTINS

o

D85596PK QTY 25
ELACK PHOS. SHORT EXTRUDED U NUTS 8-1.00MM PANEL

LINTTTVERTATRTATY

o

DS5S60PK  QTY 25
ELACK PHOS. SHORT EXTRUDED U NUTS 8-1.25MM PANEL

ATV

3

D85558PK QTY 25
BLACK PHOS. SHORT EXTRUDED U NUTS 10-1 50MM PANEL

QNP ARy

o

DSS6S0PK.  QTY 25
BLACK PHOS. LONG EXTRUDED U NUTS 6-1.00MM PANEL

JULHDER

e

DSSESTPK  QTY 28
BLACK PHOS. LONG EXTRUDED U NUTS 8-1.25MM PANEL

LA CA A M

180

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA162

RIV-NUT ASSORTMENT

8-32 8T 2080 GRIP

SHRLAL20832080 QTY 25

N

8-32 8T 180—.130 GRIP

SHRLAL20832130 QTY 25

“‘,

10-24 8T— 020— 130 GRIP

SHRLALZ1024130 QTY 25

P

10-24 §T=.130-.225 GRIP
SHRLAL21024225 QTY 25

0\ 4

1/4-20 ST .027 =165 GRIP
SHRLAL22520165 QTY 25

1/4-20 ST .165 =260 GRIP
SHRLALZ22520260 QTY 25

&
5/16-18 ST .027 —.150 GRIP

SHRLAL23118150 QTY 25

5/16-18 ST ..150—.312 GRIP

SHRLAL23118312 QTY 25

3/8-16 ST .027—.150 GRIP

SHRLAL23716150 QTY 25

‘- ‘}'
3/8-16 ST 151— 312 GRIP 1/2-13 8T ..063—.200 GRIP 1i2-13 ST 200— 350 GRIP

SHRLAL23716312 QTY 26 SHRLAL25013200 QTY 25 SHRLAL25013350 QTY 25

Item reorder quantities shown. Initial item order quantities may vary.

LA165 RIVET ASSORTMENT PH: 800-837-8707

DRIVE RIVET 3/18 X 175 RIVET STL/STL 1/8 DIA 1/4G RIVET STL/STL 3/16 DIA 3/8 GRIP RIVET ALUISTL 3/16 DIA 1/2 GRIP RIVET ALU/ALU 3/16 DIA 1/4G
DR101170613  QTY 1,000 ADSD42BS  QTY 500 ADSDEEBS  QTY 500 ADESABS  QTY 500 ADB4ABS  QTY 500

—

= — ——

DRIVE RIVET 3/16 X 275 RIVET STUSTL LRG FLNG 3/16 DIA 3/8G |  RIVET ALU/STL 1/8 DIA 1/8 GRIP RIVET ALU/STL 3/16 DIA 1/2 GRIP RIVET ALU/ALU 316 DIA 112G
DR101270613  QTY 1,000 ADSDEGBSLF  QTY 500 AD42BS  QTY 500 AD68BS  QTY 500 ADEBABS  QTY 500
LR TR LRI RTITRIAY LTI LR (WA
DRIVE RIVET 3/16 X .375 RIVET STUSTL 3116 DIA 1/8 GRIP RIVET ALU/STL 3/18 DIA 1/4 GRIP RIVET ALU/ALU 1/8 DIA 1/4 GRIP RIVET ALU/ALU 3/18 DIA 316G
DR101370613  QTY 500 ADSDE2BS  QTY 500 ADG4BS  QTY 500 AD44ABS  QTY 500 ADGEABS  QTY 500
DM TR AR R LTI LR TAMTTHTARY QTR QLTI

e ol — Cfp—

DRIVE RIVET 3/16 X .475 RIVET STL/STL 316 DIA 1/4 GRIP RIVET ALU/STL LRG FLNG 3/16 DIA 3/8G| RIVET ALU/ALU 3116 DIA 1/8 GRIP | RIVET ALU/STL LRG FLNG 3/16 DIA/BG
DR101470613  QTY 500 ADSDE4BS  QTY 500 ADEBBSLF  QTY 250 AD62ABS  QTY 500 ADG10ABSLF  QTY 250

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




PAN ASSORTMENTS

LA194 LIGHT DUTY TUBE CLAMPS PH: 800-837-8707 %
o
14 516 38
J3tes QTY 26 Jige QTY 25 JsiTe  QTY 2
(Wi mim T TRTNTY IR
38 12 12
J¥Te  QTY 25 J¥T1 QTY 25 JET1 QTY 25
JIE JUBVD T JUBVR T

58 518 314
J372 QTY 35 J37z aryss J173 aQTYss
(NI IR IR
— — —

Ja173 QTY 28 J5701 QTY 28 J5701  QTY 28
[ LR IS

Item reorder quantities shown. Initial item order quantities may vary.

&l LA340 REFRIGERANT SEALS AND VALVES 800-837-8707 &!

v <
ORSWE ORSWS ORSW10 ORSS6 ORSS8 ORSS10
SLIMLINE SEAL #6 QTY10 SLIMLINE SEAL # 8 QTY10 | SLIMLINE SEAL #10 QTY10 STATSEAL#8 QTY10 STATSEAL#8 QTYI0 STAT SEAL #10 QTY10
LI JLLRTTRIN I JLUNRRTOn T (IR,
O O] o ® O O
ORSS512 ORSS17 ORACO11 ORACO13 ORACO15 ORACO1T
STATSEAL #1412 QTY10 STATSEAL #17  QTY10 AJIC NITRILE -011 AJC NITRILE -013 AIC NITRILE -015 A/C NITRILE -017
O-RING QTY 25 O-RING QTY 25 O-RING QTY 25 Q-RING QTY 25
JLUTRRHTTI (TR TR A o TS T RV TR IR TR
S i 1L - (T
g "
AF70R5110 AFT0R5115 AF70R5120 AF70R5125 MEDMSCE1290
A/CVALVECORE QTY 1 AJC VALVE CORE 134A AIC VALVE CORE 13MM AIC VALVE CORE 16MM MSC 81290 R134A UNIVERSAL
aTy 1 HIGH SIDE  QTY 1 LOWSIDE QTY 1 LARGE BORE REMOVER QTY1
VTV ORI R U AR R A LSRR LR LI TR TR

To Order Call: 708-447-4500 or Outside Illinois 800-837-8707
182




PAN ASSORTMENTS

i% LA167 AEROQUIP REUSABLE FITTING ASSORTMENT PH: 800-837-8707 %
<

=

SAE 45° SWIVEL 1/4 HOSE FEM

AF44014  QTYH1

-l

SAE 45° SWIVEL 3/8 HOSE FEM
AF44016  QTY1

&

JIC 37° SWIVEL 3/8 HOSE FEM
AF44118  QTY1

—

SAE 45° SWIVEL 1/2 HOSE FEM
AF44018  QTY1

=

SAE 45° SWIVEL 1/2 HOSE FEM

AF4do110  QTY 1

=

UNIVERSAL SAEMIC FEM SWIVEL ELBOW 1/4
AF1202964 QTY1

=

SAE 45° SWIVEL ELBOW 3/8
AF1903026 QTY 1

—

UNIVERSAL SAE/JIC FEM SWIVEL ELBOW 1/2
AF1902968 QTY1

rl:—ﬁ

UNIVERSAL SAERIC FEM SWIVEL ELBOW 5/8

AF19029510  QTY 1
LI NTTATY

JIC UNION 174
AFZ02744  QTY1
AT

A

Ll

JIC UNION 3/8
AF202766  QTY1
AR

B

habe

JIC UNION 172
AF202788  QTY1
AT

B

ke sd.

JIC UNION 518 SAE 45°FLARE UNION 3/8
AF20271010  QTY 1 BFSFUS QTYS
OO AR TAmrmm

Item reorder quantities shown. Initial item order quantities may vary.

LA143 HOSE CLAMPS
LA143S SILICONE HOSE CLAMPS
*Includes BIN907 (shown on pg 184) plus 10
popular sizes of hose clamps from #4 mini to #36.

DRILL BIT INDEXES

Comes in durable watertight
plastic drill index and contains
sizes 1/16 through 1/2 by 64th
inch increments.

LA107 - BLACK JOBBERS LENGTH DRILL BITS
LA108 - HEAVY DUTY JOBBERS LENGTH DRILL BITS
LA108C - COBALT JOBBERS LENGTH DRILL BITS
LA109 - MECHANICS LENGTH DRILL BITS

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
183




STORAGE BINS

FEATURES BALL
BEARING GLIDES

BIN40OH

BIN42H

BIN72H

BIN260

BIN24H BIN18H

BIN269685BL BIN1320

BIN907

BIN72H 72 HOLE BIN 33-3/4”Wx42"Hx 12" D

BIN42H 42 HOLE BIN 33-3/4"Wx42"Hx 12" D _
BIN40H 40 HOLE BIN 33-3/4" Wx 24" Hx 12" D BIN1300 STORAGE CABINET FOR 4 LARGE DRAWERS
BIN24H 24 HOLE BIN 33-3/4"Wx24”Hx 12D BIN1302 STORAGE CABINET FOR 2 LARGE DRAWERS

BINB BASE FOR BINS 3334 Wx8 Hx12’D BIN1300B BASE FOR BIN1300 (14-3/4” HIGH)

BIN240 BLUE PLASTIC 8-1/2"W X 7°H X 14-3/4° D BIN1400 STORAGE CABINET FOR SMALL SCOOP DRAWERS
BIN260 BLUE PLASTIC 11"WX10"HX18"D BIN18H THREADED ROD CABINET

BIN265 BLUE PLASTIC 11”W X 5"H X 10-7/8" D BIN907 HOSE CLAMP RACK

BIN269685BL| BLUE PLASTIC | 8-1/4"WX9"HX 18D _

LARGE SCOOP DRAWERS 18 X 12X 3

e B =' & BIN1306 6
= s e BIN1312 12
BIN1316 16

b = N - BIN1320 20 (PICTURED)
. = BIN1324 2
| o SMALL SCOOP DRAWERS 13X 9 X 2

& BIN1412 12 (PICTURED)
BIN1416 16

A BIN1424 24

« Sturdy all welded double wall steel construction
* 10 cabinets - 5 manual closing, 5 self closing
* 60 & 90 gallon models have internal 16 gauge
reinforcements
» 2” Wide support shelves, adjustable on 4” centers
» 2” Deep leak proof sump
« Safely contains hazardous chemicals, reducing the
risk of fire
 Improved security with recessed lockable paddle
latch and 3 point locking system
« 2” Bunged air vents with flame arrestors on each
side of the cabinet allows for ventilation
- Safety yellow powder coat finish BIN368 WIRE RACK

PLEASE CALL FOR DETAILS BIN297 WIRE & TERMINAL STORAGE CABINET

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
184




